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1 In vaccum all objects fall with
(A)  same acceleration and heavy bodies reach ground first
same acceleration and reach the ground at the same time -
(C) different acceleration and reach the ground at different time
(D)  different acceleration and heavy bodies reach ground first

eréver Gurmaraenb eupdlL gl eflpb Curg

Q)  W»EEsbL @Gy Samaursebd, o BEHs AUl s s@raw wWwsald QaTHwb
(B)  yHssw Gy seraunsab, ereverr AumLs@sb GCr Crrsdo saramw AsT@w
©C) hssw QaucuCaupraeyb, AeucuCaum Crrsdla saremw AgrHib

D)  w@Hsswb deusuGaupnaay, Hlenm WEGHS QuTmHLs6r (Ppsdla soreaw AgmHib

2: The time of reverberation of a hall can be decreased by

(A)  having a number of loud speakers \@(‘ opening all windows and doors
(C) closing all windows and doors (D) speaking loudly

2@ se@pul adli (pés Cprsmss G@DULSHE

(A  2fls arananiiseanasuiie geil GLmadlsaner UwemU{H&sond
(B) eréver menaned sseysenar Smbs) eneudss Gouamt(Hid

(C) eéer gear s564HMET pplg. 60euHES GouearT(HID

D) sssons Cus Cauan(Hib

3. Which spectroscopy is used in chemical examination of interstellar space?
\(% Microwave Spectroscopy (B) Infrared (IR) Spectroscopy
(C) Raman Spectroscopy (D) NMR Spectroscopy

aflamr@euaflulien Ceudl pymiisdléE erhs Dmawreaauiud uweruBEng
(A) meamamae ienaTenauiluic

(B)  @ssfleuiy (IR) smewraneouldwie

(C) pgmoen sjewavwmeneulwicd

D) cigmssmeThs ssdTa) DT UTLID

o= '3 GR1P
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4, The Indian Salt Petre is _
(A) Ammonium nitrate (NH,NO,) (B) Sodium nitrste (NaNO,y

\ga( Potassium nitrate (KNO,) (D) Calcium nitrate Ca (NO,),

@bHwer sl LT erarLg)

A) <wCoraflwb e _Crl (NH, NO,) (B) Cemgquib ens Gy (NaNOy)

©)  Qumiirflub émmL(SuL (KNOS) (D) sroflwbd es_Cr Ca (NO,),
5. The unit for equivalent conductivity is

(A) ohm'em™ ' (B) ohm 'cmZeq™

\(f ohm ‘em?eq’ g : D) S cm_zed A

soner sL_s5 Hpaflen S E

(A) ohmecm™ : (B) ohm™'cm Zeq”’

(©) _ ohm ‘cmZeq ™ M) Scmeqt
6. The main constituent of steel in India are . '

(A) Niand Cu ' ' vaa( Mn and Cr

(C) FeandCu (D) TiandCr

@lrja;ﬁu.irreﬁlab Sl (1 @@L’DQG&T W&Ew ppelIQummeT
(A)  Hésd wHmbd sMAFD (B) wrsets wHmib GCrmAwib

©) @mwoy whmb smblyn (D) e CLaflwb womb GCrmAwib
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When did the Prime Minister of India inaugurate the country’s longest rail-cum-road bridge
built over the Brahmaputra river at Bogibeel near Dibrugarh in Assam?

(A)  On November 25, 2018 U OnDecember 25, 2018
(C)  On December 10, 2018 (D) On November 10, 2018

Grbwysyr Cuwe 2drer priger s B guild wHMD FravsETET urre)géng, Sjevaumdle
A maniay siméaiearear CurgiSe erenmp @8 @bHw GOrswor eri@umg Qsmrud eeugsni?

(A) peuur 25,2018 _ (B) geour25, 2018

(C) gaur 10, 2018 : ) (D) peubur 10,2018
8. The end product of anaerobic respiration is :

(A)  Acetyl Co-A @{ Ethanol alchol

(C)  Pyruvic acid (D) Succinic acid

arhileer seurssdle @muirs fen_ssU6umeig)

(A) =iflere Co-A (B) ersder gosanmed
©) eumeis sllab (D) s&afls silab
9. Golden riéé is a genetically modified crop. Where the incorporated gene is meant for
biosynthesis of
W Vitamin A : (B) Vitamin B

(C) Vitamin C (D) Vitamin D

Careoien M erenugy @@ Lrugy wrHHULLL AT @, G emudamen s wrua 2 uilflw

Qedleysareang
A) L ferA . ' (B) el Lfen B
(© e C D) el bBerD

10.  Most widely used bioweapon is . :
(A) ° Bacillus subtilis (B) Vibrio cholerae
Bacillus anthracis , (D) Escherichia coli

s ugeuens LweTuHL 2 uilfl Qu g

A) Cudlaeen gligaeden B). eNuMCwr sreGiy
(C) Cuilaeas ophsrmdlev : D) aev@evffwur Carena
(= 5 GR1P
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11.  Among the following plants, which one has oil repelling property?

(A) Tobacco ' (B) Maize

(C) . Hibiscus - M Aloe Vera
Qeupmer eThs Sreunid ‘TamtamTulianar eflews@b Fpen 2 L wgi?

A)  ymsGoe } - (B)  wésrs Gerend
(C) Qobumss ' (D)  sporenp

12. What happens in human Thalassemias?

1 reduce o — globin synthesis

2. | reduce S —globin synthesis

3. enhance @ and g — globin synthesis

(A) 1 alone correc.t (B) 2 alone correct
M 1 and 2 are correct (D) 3 alone correct

sfOlwr Gl _draTalisEhé e cTenel henl Hun&lng ?

1. a — @Gemmer 2 (heureug) GeanésliUHSHns

2. B — &Germlen 2 (meureug @m@é&a‘,uu(ﬁ;ﬁm@

3. a whnb f — EGamden 2 (Heuraug) a@&rﬁémﬁu@éﬂmg
@ 1 mLGLb &l . . B) 2vl@wbsfd
(©) 1 whpmbd 2w G & D) 3wl @b s

13. Which of the following plant boosts the production of red blood cells?

(A)  Turmeric (B) Tulsi
\(W Lemon grass ' (D) Mustard
Yemeumeuareud ey 6ThE Sreurid @rss HeuliLign 2 HUSH MW FewTL & Fnig wig)?
(A wEpsar ' B) serd
(C) erguiflFsd Y D) &6
GR1P 6
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14.

15.

16.

Consider following statements :

1. 21 June — Summer solstices more radiation received by northern
hemisphere
2. 23 September — Autumn equinox not equal radiation in both hemisphere
3. 22 December — Winter solstice more radiation received by southern hemisphere
Select the correct answer using the code given below : '
(&) 1land?2 \# 1and3
(C) 2and3 ) (D) 1,2and3
Gemeu(mLd gabblenas a;@g,g%]@u Qasmers :
Xz 21 g9 - auL_Garergdlen flasorear Qauliublena QupliuGEnsg.
2 23 Qelibur - G FoWeN earedled eul HMID QFen gimHeunsaia Geuliuflame
@muudlaeme.
3. 22 gebur - Geflt srasde Gsear gimeub s Geuliublena Gumidlng.
&Cp Qar@asuul_(Harar gHuiGsaia Qmbg eflwrear eflenemw CarbEs0 :
A)  1wHmb?2 ' B) 1wpmwo3
(C) 2womb3 . (D) 1,2 wHmpb3
How many seismic zones grouped in India?
N7 ®B)
€ 6 | D)
@b&wreller Lell 2ifTey LG _RISET erSsamen?
Aa 4 B) 5
8

© 6 ; D)

Sabarmathi river flowing states
W Madhya Pradesh Rajasthan and Gujarat
(B)  Gujarat and Rajasthan

(C) Madhya Pradesh and Bihar

(D) _ Maharastra and Jharkand

Ul L LMD WIHlBIGET eTeneu?
(A) wsHw ACseb, @rTmevgrar LHMID GNTTSH

B)  GgITs wHHIDL GrrREvsTen
(C) wsHu 9FCsew WHmID e
(D)  waryreygIT WOHMID QITES6HTL

GR1P
[Turn over
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17. With reference to black soil, consider the following statements :

1. Itis generally clayey, deep and impermeable.
2. They swell and become sticky when wet and shrink when dried.
3. It retains the moisture for a very long time.

Which of the above statements is/are correct?

(A) 1only (B) 1and 2only

(C) 3only M 1,2and 3

&mUY weaw AsrLiuns, S asr@ssLulL GgnElusmar (piga Qeiss :
5 Qurgeuns seflioein SeanLd, Lpomar wHmib B sL_sHellLm enanio @.-srrazs’m_g.}.
2. FrweL Wb Qumpg 2 LuersEe|b, 2 b QuTE SmESuyb sreriu@BLb.
3. S Senenioeni BT TSN @ 556 euss s QsmeT@LD.
CuCe AsTHESILLL Qa9 erg)/earancu@wsramd Fflwreareneu?
(A) 1wi@wb - (B) 1 wHmb 2w Hid
(C) 3wl D) 1,2womb3

18.  Different types of vegetation is found in different parts of India — due to
(A) Topography
M Unéqual distribution of Rainfall and Temperature
(C) Soil

(D) Temperature and soil

L Geum) Gusma;mfrauf_gnm rruger, @pdluinedlen LoCaum LGS aafldr BiawhHgeTaTenng®E, HTFewTD
A) QL ewey

B) Qeuiufleve wHmid weni@umdeder FOWLHM LIF6ID

(©)  wer

(D) QaudiuBleney DD Lo&kT

GR1P 8 | &
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19.  Creamy layer concept was first introduced in the case of
(A) Lakshmikant Sukla Vs State of Uttar Pradesh
M Indra Sawhney Vs Union of India
(C) K.K. Roy Vs State of Tripura
(D) Jitender Kumar Vs State of Uttar Pradesh

“Geenn SiRsdant” erayb SHmESTAG (WHT WHND B WPSULHSSILLL Q&S
A)  eLsbllenhs saor Vs 2 58595Cses oips (B)  @Qpdrresrad Vs @rdw weflwen

(©) KX grd Vs Sflygr sips (D) D95Csmsm @wrr Vs 2 8595Cses s
20. - Agricultural crop insurance was introduced by Government of India in :_
(A) 1986 (B) 1984

M 1985 (D) 1989

efleugmu LWdT STUSEH Weaperw QbW igeThsDd Qarar® cubhs <paTH 6T8?
(A) 1986 (B) 1984
(C) 1985 , (D) 1989

21. _ Golden Quadrilateral distance between Chennai and Kolkatta is

1684 Km (B) 1453 Km
(C) 1290 Km (D) 1419 Km
Qsenenar — QamTasssT Qe Cuiwirer §hs BrHaTF Freanaudler ITLD cTeuciaTa?
(A) 1684 4.6. P (B) 1453 4.5

(C) 1290 &.5. (D) 1419 &.5.

22. Which of the following statements about the first amendment to the constitution is are true?

1. The first amendment was enacted in 1952.

II. The first amendment was enacted before the first general elections.
III. It was enacted by the provisional parliament. '
(A) TandlII are true . \ﬂr II and III are true

© I and III are true . (D) 1, II and III are true

s Hmss5 EL'_I_I;}',GB"E_BLI udHlw euTsSwiiseie GTENGU [ GTS) 2 GHRTENLDILITEITENEU ?
L Wws& Hpsss s_L1b 1952 & Qupmiiul L g).

II. oo HpHsE LD s Qung CaTsans s (per| Gubmiul L gl
III. @s snaredls LUTFTERLETDSSTO QuIHDLILILL ).

A  Toomgo Il &f B) 1I womw IIT &M

() T wpmb III & . (D) L II wpmiw III &0

& 9 ~ GR1P
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23. Which one of the stages of Man’s progress is not properly Matched?

(A)
(B).

"

(D)

Primitive food collecting stage - Stone Age
Advance food collecting stage - Mesolitic Age
Food production stage - Chalcolitic Age
Urbanisation - Bronze Age

Swaramid erhs wellg euariéd Lflwrard sflwrs QuIGBEsLLLldama?

A) Yergrslu o ane| Casflagbd Hlae - SN&ETLD

B)  parCanhw o arey CsafléEn Hlaw - @lenL sDH&TeLD

(C) zawasurilé@b Hleaa - Fr&&lEs smevid

(D) msyoLwLTEEGSD = GQeuaae Srab
24, The most outstanding Buddhist writer in Sanskrit was

(A) Kalidasa Asvaghosa

(C) Bharavi (D) ‘ Kumaradasa

swevd(masHe Spmng eSlemrmdlu Uss eT(pgsTenit

(A)
(©)

sreflgran (B) sievauCGssm

urgedl . (D) (wrrstsT

25.  Arrange in chronological order :

1.
2i
3.
4.
(A)

7

Battle of Chausa
Death of Babar
Battle of Kanaoj

Death of Akbar
1-2-3—-4 B) 4-3-2-1
2-1-3-4 (D) 3-1-2-4

EpsarLmeusmen s auflensiui(HSH)s :

13
2.
3.
4.
(A)
(©)

GR1P

Qeerer GurTésed

urufles wrewTd

senGenmgy Cuniésard

S1&5Ufle yeRTD

1-2-3-4 B) 4-3-2-1
2-1-3-4 (D) 8-1-2-4

10
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26. 1 Ram Mohan Roy accepted the concept of God propounded by the Upanishads.
2 Swami Dayananda accepted the Western ideas.
3. The social reform leaders fought for the problems of women and depressed classes
4 1918 the form for Brahminicial organisation South, Division liberal federation was
started
M 1, 2, 3 are correct 4 only not correct  (B) 1, 3, 4 are correct 2 only not correct
(C) 1, 2, 3, 4 are correct D) 2,3, 4 are correct 1 1s not correct
1. grid Cuorgen prl 2 uBlagsdlen eufl eyt Qamarengeanw ghmé CameamLmi
2. Geunl GuiITehs Freveusl GLDLE).&Q){@HJ Sbgena eUTHSMmS 6 Hmid0lemearTLmi.
3. seps FTEmaseundlaear QU 3igew LHNID STPSSILLGLTT Fo@)sE LTHuL LT
4. 1918 & Gigmoewr Ty QuisEwry Gsaeflbilu ellBsma simwliy 2 (heurssb Quhng
(A) 1, 2, 3 wl (i &f 4 seum (B) 1,3, 45,2 Heum
(C) 1,2, 3,44 (D) 2,3, 4sf, 1z
27. Which of the following facts are true regarding the commercialisation agriculture under
British rule? _
1. Money lending and exploitation of Poor peasants
2. Scarcity of food
3. Increase the demand of cash crops
4. Commercial agriculture went in bankruptcy
(A) 1istrue, 2, 3, 4 false
(B) 2, 3, 4 are true 1 is false
(C)  all are false statements
\W 1, 2, 3, 4 statements are true
mde g fullér efleusmub euamflswwih HerCung goul L eflearaysenst unidlw shHmsaile erg)
2 _GTENLOWIMETS)? )
1. QUL Iy SETTTEHET G)lgq.uflemeuiaenar &ireur(H e
2. 2 ewteyss_(Huum®
3. uastiuwdiT Caeneu iglaiy
4. uertLudT euanflgib Heurer@se
(A)  1wl@wef 2, 3, 46 e
B) 2, 3,481 sf oo
(C) imenssg geu .[Drremgl
D) s@marsgbd sflwireng
= : 11 GR1P
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28. Name the famous dancer who crowned as ‘Kathak king of India’?

(A) Prem Chand w Sambhu Maharaj
(C) Thyagarajar - . (D) Fate Singh

‘@pHwnellen 556 HLT iTFT GTET a;emgé-..m_}@m pLendgHemevEhflem G

(A) © GCGrens (B) &by wsargrgm
(C) Sursgrg _ (D) Cus S
29.  Which among the given facts became the primary reason for the leave of E.V. Ramaswami

from Indian National Congress?
" conlict with M.K. Gandhi

(B) crisis in Seranmahadevi charity training centre
(C) congress ideology

(D) communal disparity in Congress

m.CGeu. @rmosmll @pdu CsHlw srmdlpfldlmpng QeuaiCunesnE Speaupgerer sryemmsafld
(PSETENLDIITENG) 6TF)?

A) Curs. sthduyemar wprarun(

- (B) GepamosnGgell gm@e LDl erwwsdle flawpbs 5asd
(©C) smadlgélen smsHuwe |
D) smdrde seps lgHwursd

30. Which strengthened the National Movement?

(A) Europeanisation ' Marx1an theory

(C)  Religious faith \pﬂ Secular ideology

Casflwu Quisssms ugi@uné Qawiss) erg?
A) auCrmrulubwwrged (B) wri&flw Qaretens

(©) svw pLYsSHs : (D)  wsssmiLDD HHSSHWID

GR1P 12 -
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31. The financial control exercised by the Parliamerit over the executive through

M The comptroller and Auditing General of India
(B)  The Auditor General
(C) The Finance Secretary
(D) The Accountant General
@pdw urpmepwenb Geuer § sigear g sarg Hsrmms s GuuraL QFQisgid Geur
UG & 1b.
A) @b g sanéiE LHMD safléms Qi
B) @ssw gaflsms seoaeur
©) Hosgen Aewemart

(D) swemw seTHE ST

32. The Comptroller and Auditor General is appointed by The President of India under which

Article

(A)  Article 162 M Article 148

(C)  Article 153 (D) Article 174

BbHw sameanns sarflsmaunearay ehs elHular L. G wrs sameauT Bluwernd eldpri?
A) &f4 162 (B) o4 148

(C) &94 153 D) &4 174

as. Consider the following statements :
1: Article 308 to 314 of the constitution with regard to the All India services.
2. Article 308 exclusively apply to the Jammu and Kashmir.
3. The Parliament has enacted the All India Services Act in 1952.

4. Article 312 empowers the Parliament to create new All India Services
Choose the correct answer :

W' 1land4 (B) 2only

(C) 4only ' (D) 4and3

SLpeu(Hid Gurra;a%]u_lg,mg S(HSIS : '

1. 2 miliy 308 apse 314 cuampullener ipaemoli] L b e @Iﬁé‘;lu veflsar unHd sammg
2. 2 miy 308 awpodlaid Qbp sreuli eSleusTynisEhassTeag

3. umymenLeDD e @bHw uailsar s Lgms 1952 o4 yam® Qubblwg).

4. 2 Ml 312 unpmepLePSSDHE UH W e @bSw uamiamw 2 (Heurss afamrd safisdng.

sflwen eflenLenw CobLEHES
A  1wpgo 4 B) 2wl En
©) 4wi@w D) 4wvompw3 .
= 13 GR1P

[Turn over
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34. Article ———— was inserted into the constitution under the 73rd Constitutional
© Amendment. '
(A) 245B : (B) 244B
\(f 243 B (D) 242 B
Sirflwe grgar 94 - . T3eug <irdlue Fmsss slLgdleamed pfluwawiibe
Carasliul L g).
(A) 245B (B) 244 B
(C) 243 B (D) 242 B

35.  Who among the following was the Cabinet Minister without portfolio?
(A) C. Rajagopalachari
(B) T.T. Krishnamachari

M ‘N. Gopalaswami Ayyangar
(D) G. L. Nanda

&qu (HUGUTSE@RET WTT @leorsr @ears wHl Sawasyrdluieur?
A) C. grnCsrurersgrf

B) T.T. Smpeyemmonssml
(C)  N. Garureend guBisTT
(D) G. L. s

36. Which one of the following statement is not with regard to powers of the Parliament?
(A) Parliament can approve three types of emergency provisions
M It cannot abolish State Legislﬁive Council
(C) It can alter boundaries of the states

(D) It can establish a common High Court for two or more states

BILmEnatnsSlen sgsryrmiger Qgriurs Sereumueueameummled ereneu sflwicen?
(A)  mromEpwermid epenm eflswrer Sieuer Hlevevls FsLarsams HenwdlssEeamd
(B)  mrim@pwenpid wirfle &L Guoaameuamw Hs @qmng

(©) wrbleomseien eréamaEemeT LTHD (PLGUL{D

D) @@ awurtdoansams Qe ( Sidaws 2A5DEG CuoulL wrloksErss gHuUBSSeOTLD

GR1P | 14 R -
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37.  Jallikattu, the bull taming sport of Tamil culture and tradition is protected according to

article —————— of the Constitution of India '
M 29 (1) (B) 39 (1)
(©) 49 (1) (D) 59(1)

padlsl B, gnswesd elameurl () eeap sllpflar sorésmy wHmbd wvadTUT®  @bSWw

iysennl9en efldullen g urgaETIL SeflEsiul_Hererg):
A 291 B) 39(@)
© 491 | (D) 59 (1)

38. Who headed provincial constitution committee of constituent assembly?

(A)  J.B. Kirpalani
(B) H.C. Mukherjee
(C) A.V.Thakkar
M Sardar Vallabai Patel

Sirflweenbliy Hiremu seLiufe QFmbsw é{gé}mmmmu-q sl iguflenn Hemeeurrs @ (HHSEIT WmT?
A)  J.B. diinoad

(B) H.C. wsig)

(C) AV. gngsam

(D)  srgmieuseumis LI CLd

39. Who among the following was not a member of Drafting commaittee?
(A) K.M. Munshi
(B)  Alladi Krishnaswamy Ayyar

M Pattabhi Sitaramayya
(D) XKrishnamachari

Epasem_cundle) eTeurm euem{;reqé; @@@ﬂé 2 ML Qenyrs @Lib Qupeddame?
@A)  KM. gperd "

B) ey Smagaerand guir

(C). ulLml Aggrgrowwm

D)  Hmeyenromgn)

= 15 GR1P
' ' [Turn over
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40. L The constitution is a source of, and not an exercise of, legislative power;
1L Constitution springs from a belief in limited Government
Which of the statements given above is / aré correct?
(A) Ionly
(B) IIonly

' BothIandIl

(D)  Neither I nor I1

I Srflueemblyd LD eratug FLLLSTDREET® 2 (HeuTssUUBHeUSRE; WIDTE D
LOGITD B & (EHSSTE <S4SI ALPGVLD SO ;

I1. auren(pepUIL@ESSUILLL. JATFTRGD eaugen  gmar  pLUS®MS  THwemLULF
s L EANGHEGE AREOsWADS
Cupsearr._ smpnaefla erg sflurerg? -

A ITwl@Etw

B) 1 bl @Gw
(©) I womw Il @rar@id sACw
D) I wpgid Il Gren@Co sflwda

4]. Which committee was appointed in 1986 to deal with ‘Revitalisation of Panchayat Raj
institutions for democracy and development?

(A)  Ashok Mehta Committee
(B) G.V.K. Rao committee
M L.M. Singhvi committee

(D) Santhanam committee

198610 yamiqe, “wéserm S wHmd Cuburliyhars UEFTLss Bneamsmer UsHuITaGEs
SMWESILILL G eTGI?

A) =Ceagrs Cogsm @w
(B) al.69.Ca. ey G
(C)  erév.erid. Arvell G (ip
D)  spyrend G

GR1P ' 16 =
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42. Match List I with List IT and select the correct answer using the codes given below lists :

List I (Event) ; List IT (Year)
(a) Special Economic zones policy 1. 1991
(b) New Foreign Trade policy . 2. 2000
(¢) Goods and services Tax act 3. 2015
(d) Narashimham Committee Report 4. 2017
(a) (b) (c) (d)

2 3 4 1

B) 2 4 1 3

C) 4 2 3 1

D) 4 3 2 1

Qurmggsis ulgwe I wHmw II ew urmss 8Cyp QardasuLL[Herer sflwen e e Cairey

y Qslis
ulgwe I (Baspey) _ vligwe IT (per@®) "
(a) &ApuyQumrmenngry warT_e Q&TETMs L. 1991 -
(b) ydw uemen (B curenflu QasreTans 2 2000
(c) Qummer wHmD verfl cuflé L b 3. 2015
(d) mrélbwbd &6y 4 2017

(a) (b) (c) (d)

A) 2 3 4 1
B) 2 4 1 3
C) 4 2 3 1
D) 4 3 2 1

43.  The father of Green Revolution in India was
w M.S. Swaminathan
(B) Gandhi
(C) Visweswaraiah
(D) N.R. Viswanathan

@nfHwunelen ugemo Yy SHulen Hens T EPESUILILLGUIT wimi?
(A) M.S. seumblprgen

B) a&mpd

(C) eSlev@eusveugmiwim

(D) N.R. efleveuprgen

¢ . - 17 - : GR1P
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44.  Which one of the following is the source of direét tax?

(M‘ gift tax (B) customs duty

(C)  excise duty ; (D) service tax

&Cy Qar@ssiul_Herer Qeamisafler erg Crips auflenw mibsg?

A) euafiuy eufl B) srgeu
©) 20usd eufl (D) Cseneu eurf
45.  The sum of the deficit under Revenue account and deficit under capital account is

w budgetary deficit

(B) primary deficit '
(C) fiscal deficit

-

(D) revenue deficit

BLULS S6TEG UDDTEGDEN LD APISET HErTHGELI LIDDTHG@DELD dni_lg SaniLg)
A) HIheoe sifsms LHDTEEGMD

B)  wpsemerw UpDTEGED

©  BAuubPTEGDD

D) G}J@a.lrruj UM IT&Eenm

46. The process of removal or relaxation of Governmental restrictions in all stages in Industry
is known as _
(A)  Privatisation M Liberalisation
(C)  Globalisation ' (D) Disinvestment

Qsrfoginn pLeagsmssaiier srfar sL_Hurismen saisgeaims Sowg WHHILTE dewsd
QameTEHid (pepmeniL ' . ' '

(A)  geflwnT LwwLTEsD (B): smymer bwWWLIESLD

(C) 2 @swWLTEED D) apagear eflassa

GR1P | 18 e
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47.  With reference to the Rural development in India, consider the following statements :
I. Poverty alleviation and welfare of the people
II. The process of urbanisation in rural areas

Which of the statements given above is/are correct?

M I only

(B) Il only
(C) BothIandlII
(D)  Neither I nor II

dlgmoyp wpenGearbpapid, ‘@‘[b;ﬁmrranb aranug), SpsTL euTsEH LSS gmms :

L aumiento LPILILD, Sgmoyn wéseflern Hemenow|b

II. Sy pBismeT HETWILTEGSNEE eufleums QFlsaID

shlwrer eursdlwdeans CoHosM : .

A& [uihé A B Ouwifs

(©) L IIgrew(wo D) I II grer(HCio Gevanew

48. Which of the following is/are eligible for “Kisa.n credit card”?
1 All the farmers
IL. Share croppers
III. Tenants '
Select the correct answer using the code given below :
(A) TIonly
(B) IandlIl
(C) IIandIII

PN L 1landII

“dlenmert &L cguism_” &GL;_) Q&rr@ésesuul'_@e’nm BU(BEE WT(HEHE SGSHuLwg)
L Senand g efleusrulger

II. vl GCeurt uki@GsTyT

III. @sssmssryr

Spaam_cupdled a8 eiim Fflwireng) :

A) Iw @ '

B) - ITwomw Il

(C) II wpyw III

@) I wpyd I

(o= ' 19 “GR1P
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49.  Match the following

(a) Kol uprising
(b) Santhal uprising
(¢) Khonds uprising
(d) Ahoms uprising
(a) (b) (c)
: 4 1 2
(B) 3 g 1
© 1 3 2
D 2 3 4
Spssamaupeon QUTHSSEs :
(a) Came erpssl
(b) absTD 6T(PFE
() Garar@ser erapssl
(d) oCapmosererqpss
(a) (b) (©)
A 4 1 2
B) 3 2 1
© 1 3 2
D 2 3 4

50.  Which decision of Gandhiji was opposed by Ambedkar?

(A)
(B)

D)

THs EMES (Piyeile) sMHHEGL SADCUSETHEGD G uile ety gHULLL g7

(A)
(B)
©)
(D)

GR1P.

Partition India

Calling 10Wer castes

Satyagraha Movement

Non-co-operation Movement

@pSu Afceen
SMp&SsLILL_GLmi
#5Hwrdlrs QuEsid
@5HOPWITEL QWSS

Ll

(d)

— kW

e, 00 40 i

(d)

= s W

Bhaalpur
Orissa
Assam

Chotanagpur

LImeDLILLT
efleveur
2| GIEVITLD

Gamrl_Lm ‘l_r)ﬁé;ligfr

20



https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

51.

52.

Arrange the following 1n chronological oi‘de_r.

1. Communal award

2. Nehru Report

3. Gandhi Irwin Pact

4. Visit of Simon Commission

- A 3 2 1 4

v 4 2 3 1

(C). 2 4 g I

® 1 4 -2 3

emeupeuareumeny sreeflensliLig 2 H&HGS :
iy uELILS QeTaL

2. Crm 1dl&ma

3: anhd Gredlern @UUBSLD

4. GNELDE (& (L QI(HENS |

Ay 3 2 1 4

B 4 2 3 1

<o 2 4 g 1

O 1 4 2 8

Match the following connected with the year of Acts

(a)

. (b)

(©
(d)
A)

(©)
D)

Qerrau(mid yam(® FLLmigamend QemmLjerer Hlspe]semaruid B ewarss :
1.

(a)
(b)
(c)

(d)

(A)
(B)
(©)
D)

Introduction of communal representation

Right of discussing Budget
Separation of Burma
August Declaration

o e Gl &

3 1 4 2
3 4 1 2
2 1 4 3
4 2 3 1

Ll ArdHlsgieubd Sidlpsid
Héfema idamasamu efeurdlés o faw
urror A&sLu (e

2560 ([H M &Sens

@ ® © @
3 1 4 2
3 4 1 2
2 1 4 3
4 2 3 1

21

B,
3.
4

18

2.
3.
4

1935
1919
1909
1892

1935
1919
1909
1892

GR1P
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53.  The sequence in which the given terms are mentioned in the preamble to the constitution of
India is:

w Sovereign, Socialist, Secular, Democrétic, Republic
(B)  Socialist, Secular, Sovereign, Democratic, Republic
(C)  Secular, Sovereign, Democratic, Socialist, Republic

(D)  Sovereign, Democratic, Secular, Socialist, Republic

snfueenwide wasuymruie @il uul GHarar Aasraramssaflan sflwrer euflens:
(A)  @epuramenio; SO, FOWSTTUHD, LESETTLE), Gl w8
(B) swsmwb, sowsTTLOD, @mpu_lnas:uremm, wésenT_ &, Gquim’ 8
(C)  swwerTudHD, GEDWITETENLD, &ESETTL_E, FSTLOW, g w4

(D) @enpwuraremw, WasETTL &, FLWSFTTUDD, FSTOWD, &g wT &)

54.  In a right triangular ground, the sides adjacent to the right angle are 50 m and 80 m. Find
the cost of cementing the ground at Rs.5/sq.m

(A) T 20,000 (B) ¥ 15,000

\(gf % 10,000 (D) % 12,500

@m aetur B GemCarenr W&Caramd eaugeailer 2 drerg. QemCsransmss STHED
ussmasar 5085, 805 HLald AQwerr . L& s57 B L (15EE 5.5 6isb @b Aorss Qewmeud smer.
(A)  .20,000 (B) 5.15,000

(C)  ¢$.10,000 . (D) 5.12,500

55. The average of 5 numbers is 180. If one of the numbers is removed then the average
becomes 155. Find the removed number?

(A) 240 G 280
(D)

(C) 320

5 aramasafler ggmafl 180 eupdle e ararrenant Badlanmer ggmafl 155 eran wrmdlng erafler BéaiuL
CTERTEN TS &ITERT 5.

A 240 (B) 280
(C) 320 (D) 360

GR1P | 22 c
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56. A person crosses 600 m long street in 5 minute. What is his speed in km per hour.

A) 36 g T2

(C) 84 (D) 10

e puit 600 SLLm Saraperer g Gsmeneu 5 BBl fisalledr sLsdlprt arafler Seufler Coussams
&5/ wewfludled samy.

(A) 3.6 (B) 7.2
(C) 8.4 (D) 10

~

57. A man travelled % of his journey by coach, ;—‘ by rail anli walked the remaining 1 km.
How far did he go?

W 22 km " (B) 20km

(C) 33km ' (D) 27 km

QRHEUT Seog Liwemt SIySSe % uniens Canés euaniguied ;—; uies guild auamguigib,
Baperer 1 HCambBLLang BLBGID sL&SAnTT erafléd Lwewr SNy eTemen?

A) 224.5 (B) 204.5

© 334848 D) 27 &b

58. A.ramp for unloading a moving truck has an angle of elevation of 30°. If the top of the ramp
is 0.9 m above the ground level then find the length of the ramp.

@, 2m | B) 15m
1.8 m D) 16m

@@ senw sardulleadl(mhg Fenwenil Qnés éjgjeu & 30° gns Caramsdler gm smilas ST 2 6TeTg).
smiey sengdlen o 58, saguialimpg 0.9 18 2 wrsdo o drerg) erafle, smieygsersSlen Hard wimg?

A 248 B) 158

C) 188 | © (D) 168

& | 23 ; GR1P
[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

59.  The standard deviation of 10 values is 3. If each value in increase by 4. Find the variance of

the new set of value.

36 (B) 12

(A)
W o - | | @) 3

10 wduyseflenr L elassnd 3. geauleurm wHuyLD 406 smliL  HoLsEhd yshu Sl

60.

efasasdern ellwss euirss ggrafl wng?
A4) 30 | (B) 12

© 9 D 3

Find the next term of this sequence 11, 13, 17, 19, 23,

B) 27

@ 25
(gf 29 : D) 31

61.

GRI1P

11,13,17,19, 23, ——————— arenrp Qg euflangufeh SiHSgI eu(mbd 2 myliL] erg)?
A 25 (B) 27
© 29 (D) 81

Find the mean of 2, 4, 6, 8, 10, 12, 14, 16.
(A) 10 , J 9
' : D) 14

©) - 12

s (h&ayrafl sremreyd. 2, 4, 6, 8, 10, 12, 14, 16.
(A) 10 B 9
(C) 12 | (D) 14

24
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62. Shyam’s monthly income is Rs.12,000. He saves Rs.1200. Find the percent of his savings
and his expenditure.

(A)  10%, 80% | @( 10%, 90%
C)  80%, 10% 90%, 10%

‘eflwmblen wrg auporad r.12,000. e CallEgh CGsrans 5.1200. euflar Callly, Qeaay
S fweupdlen s56555m55 Srams. -

(A)  10%, 80% (B) 10%, 90%
(C) 80%, 10% D) 90%, 10%

63. Due to increase of 30% in the price of a colour TV the sale is reduced by 40%. What will be
the percentage change in income?

(A) 10% increase
(B) 10% decrease
(C) 35% decrease

M 22% decrease

R cudranr AgrenaasT &l Gl iguSlar aﬁlsma)ﬁsi) 30% dlafgssrad 40% aflpuamen GmnHsg aafle =
aupeurudled rHUBLD LTHDEMS FHISSS 6 Fam).

Q) 10% @dsfoy

B) 10% Goney

©)  35% ey

D) 22% @ewey

64. Find the least number which when divided by 24, 32 and 36 leaves the remainders 19, 27
and 31 respectively.

(A) 280 : (B) 290

W 283 | D) 300

G ararenemt 24, 32 whmib 36 <o wEsEL Curs wanGu 19, 27 whmib 31 e BHwrs
HDLESTED DHS CTERTOT STERT. '
A) 280 _ ' - (B) 290
(C) 283 (D) 300
- ' 25 ) GR1P
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'65.
"a".
o -
© e

B)
()

b

abe

If LCM of "a" and "b" is @ and LCM of "b" and "c¢" is b, then what is the LCM of "¢" and

a wHmb b e 8.Aur.bLEIEG a eareyd b wHmL ¢ ar B.Qur. wLRE b aae)b QMmbsTd ¢ WLHMID

a e 8.Qun.b erenten?
(A) a
© -«

_ 66. Which one is correct?
\2/ § =0 =35 <1 1
—— < ——<—< =
5 .40 80 20 2

— (B) 3{—1(—13 -15

1
5 20 40 80 2
© 15 18 -1 -3 1

gt <
80 40 20 5 2

o L.z8 =1 =13 -15

—<—<—<—x<
2 65 20 40 80

Easar_aipdie erg sflumerng?

(A) —§<—_13~<—_15<_—1<l
5 40 80 20 2
B) 3{—1 -13 -1

1
"5°20 40 80 2

5
3.1

15 -13 -1 -
80 40 20 &5 2

©

D) l<_—3<_—1-<ﬁ—_13<—?15
2 5 20 40 80

GR1P
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67.

68.

x*-25 (x+5)*

DRnpHY x+3  x2-9
& E=9E+d
(x-3)
(x+5)(x-3)
© (x+3)
i x*-25 (x+5)?
e x+3  x2-9
@A) (x-5)(x+3)
(x-3)
- (x+5)(x-3)
© (x+3)

168
125

\S/ =
168

168

_(A) 195

; 125
5 TRl

" © 168

27

@)

B)

D)

B)

()

B)

D)

(x+5)(x+3)

(x -5)

(x-5)(x-3)

(x+5)

(x+5)(x+3)

(x-5)

125
160

160 -
126

125

160

160
125

GR1P
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69.

70.

GR1P

The exterior angles of a pentagon are in the ratio 6:3:4:3:2. Find all its interior angles.

(A)  60°,120°,80°,160°,120° (B) 80°,110°,150°,120°,80°

(®)] 100°,170°,160°,40°,70° M 60°,120°,100°,120°,140°

o guCsransdar CeueflaCarammadr 6:3:4:3:2 eranp  lflgsdd o areren  erafled  yge

2 |_Caremrigafilen Sie1esmars &I s.

(A) 60°,120°,80°,160°,120° (B) 80°,110°,150°,120°,80"

(C) 100°,170°,160°,40°,70° _ (D) 60°,120°,100°,120°,140°

Which one of the following cannot be the sides of a triangle?

(A) 4,5,6 3,4, 5

' (B)
© 2,34 - '0{1,2,3

AemeumeuaneupmieT eTeneu (PEGEHTERTSS 6t LbERISETTS B mEs 1piguing)?
(A) 4,5,6 ' (B) 3,4,5
© 234 (D172, 3

Without using logarithm table find approximate value for log,, 2.

(A) 02401 q/o.s

(C) 0.3802 - (D) 1.414

LDLEMS L auementenw L Lwetu®dsmoe log,, 2 e Camymu wéliy srawrs.

(A) 0.2401 B) 0.3
(C) 0.3802 (D) 1.414

- 28



https://applink.adda247.com/d/XhqWf9lSap

Adda247

72.  The cost of levelling and turfing a square lawn at Rs.2.50 per m? is Rs.13322.50. Find the
cost of fencing if at Rs.5 per metre.

(A) T 1500 (B) %1380

(C) %1225 M T 1460

S(h 51766 QLI LOGRT g5 FLUHES 817 BLL (&S 5.2.50 eigb m.13322.50 Asaweurnélpng
erafled =2ibs auweln@, Ceuell Biemnés B L (1H&EE .5 eigib ercusiere| CFwa| H@0?

(A) T 1500 (B) ¥ 1380
C T 1225 (D) T 1460

73.  The diameter of a semicircular grass plot is 70 m. Find the cost of fencing the plot at T 12
per metre.

(A) ¥ 7700 . (B) %840

\gf z 2160 | (D) T 4320

Sieyeul L augefomar LoQeuef geandlar el Lib 70 m. 2igHE& snp Coud Biemwsés g BLL (&G
¥ 12 &igib erenen Glaaur@Lb.

(A T 7700 : (B) ¥ 840

(C) T 2160 (D) ¥ 4320

74. A circus tent is to be erected in the form of a cone surmounted on a cylinder. The total
height of the tent is 49 m diameter of the base is 42 m and height of the cylinder is 21 m.

Find the cost of canvas needed to make the tent, if the cost of convas is T 12.50/m?

(A) T63552 (B) ¥ 65352

M % 63525 D) T 65532

R ST&ESE aixl_l‘EIILDITGG’IQJ o menaruden 55 by Qevanhs cuigeld) AMLBFIETETS. Fnl_MrGdlen
Qs 2 winb 49 S Sigen Sy liusagder oL b 42 8. o peveriiunssdlen 2 wimd 21 S Gogid 1 &8
Ssgren geafllbar el 1250 el smimmd owsss Csemeawrear Hssrean geafulen
alemeamws snas

A) T 63552 - CB) % 65352
©) % 63525 D) % 65532

= 29 GR1P
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75. Calculate the compound interest on ¥ 9,000 in 2 years when the rate of interest for
successive years are 10% and 12% respectively
A) ¥ 1,188 ' ¥ 2,088
© T 4,396 D) T 2,59

S AsTssE ADE50ES AIHEEHEE WwenCw 10% whmbd 12% ey Sssde T 9,0006@ 2
2@ (HEE@HEE@ QBT QULIlg. cTeuaIeTe,?

A T 1,188 B) T2,088

(C) T 4,39 (D) T 2,59

76. A certain sum of money in simple interest scheme amounts to ¥ 8,880 in 6 years and
T 7,920 in 4 years respectively. Find the principal and rate percent
J  Principal = 6,000, rate = 8%
(B)  Principal = 6,600, rate = 8%
(C)  Principal = 6,000, rate = 7%
(D) Principal = 6,600, rate = 7%

@ GHLYELL swrang safl ally issdle 6 yarhsaier T 8,880 ysab 4 am@safler T
7,920 gysa)b wrMHng) erafled g LHMD el iy I5HMSH TS

(A) &6 = 6,000, cul lg 6igd = 8%
(B) &6 = 6,600, aul g 6z = 8%
(C) s =6,000, culig aigbd = 7%
" (D) =i = 6,600, aul iy b = 7%

77. A fair die is rolled. Find the probability of getting a.prime factor of 6

N

@)

4)

©

ol w|
bo | = Qo=

S Erran usmL @ (Pen e HLL LUUBEADG. i b6 usT srrafsear Hlass Hapsse wrg?

(A) (B)

©) D)

o|lo wlk
pO | = O
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78.

79.

80.

Country’s first transgender clinic was established at
(A) Gujarat
(B) _ Maharashtra

)

\M Kerala !

Assam

BLog) BT 1g 6 HFBhmas@EpsaTar i wmsgeunamar eTb wrhlasHd Himeutiul Hererg?

@) e

(B)  wsmymesgym
(C) CGarerm

(D)  evevmD

Which scientific agency recently discovered evidence of water in asteroids?
" Jaxa |
(B) NASA
(C) ISRO
(D) CASIC
erhs sifleflwe suie) Apeuend SnCsararsafle garait G@mLums slUSSHOL s tﬁqgggj?
(A) JAXA
(B) NASA
(Cy ISRO
(D) CASIC

Indig’s first indigenous microprocessor is known as
@  Shakti
(B) NASA
(C) JAXA
(D) NITI
- @BSHwurelle e pepwrs 2 aTHT .G swrrren KeTEswed
(A) Shakti
(B) NASA
(C) JAXA
(D) NITI

31 GR1P
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81  Which of the following taxes have been subsumed under GST (Goods and Services Tax.)?_
(A) Corporate tax, Customs duty, Service tax
_ w Excise duty, Entertainment tax, Sales tax
(9] Minimum alternate tax, Sales tax, State VAT

(D) - Luxury tax, Capital gain tax, Cess and Surcharges

&G QsrH&sLuL_(Herer eﬁll’ﬂ GepUle ergy GST cupbL&@er eumuemeu?
A)  HAmeuer eufl, #is cufl, Ceeneu cuffl :
B) P same eufl, dumrpgCuné eurl, eflHueamen.cufl

©) @oppsuls wrdy eufl, elpueen aufl, LE;W‘@_GU VAT

D) oy buyeuf, epegar eorub eufl, Siemas LHMID B cufl

. 82. ‘Namami Gange’ — Clean Ganga is responsible for implementing the pi'ogramme under

Rural electrlﬁcatlon

M Environment protection

©) Swachh Bharat 2014

D) Awareness through village panchayats

‘Bormdl-smGs — FHHONET HBIEHS GTETLIG) erbs Hapariugdl L Blapsfluie 2 6t aumpb?
(A) ;ﬂqrrmuur,_r SleTgmyLD

(B) - snFSL® LTGSTOY

(C)  &eué umys 2014

D)  Agmw uErETWS epaid Sl arTTE,
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83.

84.

When was Pradhan Mantri Awaas Yojana Gramin was established? -

\M April 2016

(B)
(©)

)

Gygnar bl peuren Cuirgeart 6rhg pah Sleumslul L g)?

(A)
(B)
(C)

(D)

April 2017
April 2018

April 2015

gure 2016

grimey 2017

gre 2018

ey 2015

Who said, “The District Administration is the total Management of public affair™?

\(9/' S.S. Khera

(B)

(©)

)

Ramsay Mac Donald
Warren Hastings

Anumantha Rao

“wreul L Hlreursn creamig el () Gurss Qung efleusty CGuoanameamin” et sabluicui?

(A)

(B) .

(©)

(D)

S.S. Qapr
rribGs Cwd QL memme ()
auresr Gameiig rmieh

SIEIOHS T
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85.

\gf Both 1 and 2

86.

Consider the following statement :

(A)
(B)

(D)

North-Western part of India get rainfall during North-East monsoon.

In India, Red panda is found in the western Himalayas.

Tamil Nadu get much rainfall during South-West monsoon.

Which of the statement(s) given above is/are correct?

Only 1
Only 2

Both 3 and 1

ECy LenBésLul Harar aunsHlusmss seue

1
2.

3.

(&)
(B)
(©)
)

@ndureilen eu -Cun@E UGS, L HYaE LmaUsSTHD Srokisafla wawaw QumEDS.

@rdwureilan Gon@ @ww waeliugdseate Heuliy unarr srariuGEng.

CganCom@ LimeussTHN Sl 5@@.&,”@ 288 jara) wapaw QumSlams).

CwCa QarRasiiul_[Harer aursdlwussd erencu(&e) sfluimerng)

1wl (b
2 1o ®ib
1 wpHmbd 2
S wHmiw 1

Which of the following is recognized as the Regional Tsunami service provider for Indian
Ocean Region?

(A)

Thuthukkudi

\(y' Hyderabad

Geareumeugafile gy @QbHu CQumms,d uvgdssrar Grmbdu  seamll Csoeu podwns

GR1P

QeweuBHdmns)
A 15556
(C) amandlgruns
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(B)

(D) Bhuvaneshwar

Chennai

(B) Qsanenen

D)

LeuGeneveur
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87.  Consider the following statement :
1.  The national cadet corps was established in 1948.

2. The Sainik schools were established as a joint venture of the Central and State -
Government.

Which of the statements is/are correct?
(A) 1lonly
(B) 2only

MBoth 1 and 2 correct 3

(D) Both 1 and 2 wrong

SD&E@TL G0 hH)SHEE® 6T HBHSSD Ganer.

1. 1948 gyib yar(H Coélu wremeul UL ienndsLg).

2.  asafls uataflsener 2 meundd sl OHMID wrHle 2T&SET Gamanhg) HLSSHSHDs).
Cuhaaflu Qerm@pm_feo ergy sflwmeng? |

&) 1wl@o

@) . Pucpin

©) 1opmb?2 s

D) 1 woHgd2 seum

88. Kargil Vijay diwas obse_rved in
'(A) 26 September 2018 '
- (B) 24 September 2018
7 26 July 2018 |
(D) ~ 24 August 2017

sMéld g Hand s Qg UILg)

(A) 26 QsOLbui 2018 (B) 24 Qsiiibui 2018
(C) 26 ganew 2018 (D) 24 sysevr 2017
c . 35 GR1P
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89. How many Islands in Andaman-Nicobar Islands were renamed by our Prime Minister on
December 30, 20187

A 5 B) 4

_.‘9/3~ _ o 2

éaﬁ;g,mnsh Hl&EGamuiled o e TEHEET S |HEHE(E 0018, genur 30 oerm B TS
wr duwdiemr? | '

A 5 | . ®) 4
© 3 | O 2
90. ‘SAMPRITI 2017 is a joint military exercise between armed forces of India and
(A) Bhutan ' MBangladesh
(C) Pakistan . . i% (D) Myanmar
‘goufld 2017 eremug @BAHWT LHMID —————— SpusliLiLsaflen sl Un@]c;u LuH & L.
A) yLmer ' B) umsamGsey
(©)  urdlevsrer (D) . WSlwiremon

91. In November 2017 and Indian short film “The School Bag” Won_the Best shc;rt film award at
the South Asian film festival held at Montreal. Who among the following is the Director of

the film? _
(A)  Anurag Kashyap J Dheeraj Jindal

(C)  Sujoy Ghosh _ (D) Samvida l\ldnda

peubui 2017 ey wrert Mwelled penL Qunm GenE pslu QGMLJL:I_ @S@rr'eﬁlsi} “g evandy Cus”
erenp QhHws @mbuLb Spps GHLULSEEST elmeasl uDDE). .E%IE.Q\%@@QLQL_[:JLII'_I_GUI:T&@G?T.

SILULSH e @UE@GHT WTT? _
(A Sierné segwn | B) Sy e
(C} &MLy Cameg D) erbellgwr pHe

GR1P | 36 e
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92.  The China’s space craft that probe farside of the moon is
(A) Sputnic—1 A Chang’s 4
(C)  Chang's 3 (D) .Cosmos 3

Bleredien wmLsssms prmw S Siadu elamswsden QU erera?
(A)  evylaefsl ' B) emmd

©C) om3 ; . ’ (D) srevCuomen 3

93.  Match the following

~ Schedule Subject

" (a) Iirst Schedule 1. Division of powers between union and states
(b) Eleventh Schedule 2. Languages
(c) Seveﬁth Schedule 3. Names of states and union territories
(d) Eighth Schedule 4.  Panchayvats

@ O  © . @

M 3 .. 4714 2
B) 1 - 4 2 5
<) 2 1 3 4
D) 3 1 4 2
SpsseT_cumenn 6 LImmEH5is

L g Wied Qummer.

(a) g Ll iguid 1. WSHI {78 HDID mnlgﬁla)r'éje};aﬂml_-@mm et yHsry LSlTey
(b) uwfQenmesrpmb Uligwied 2. Qumf&ar |
(c) G.j'g;m_b U lg U6y . 3. rhleriser mgbgum weflwer yGgemsafler QT
(d) Grl'_l_l;rLb L]I'_Lq_u_lél) 4. LIGHEMLISE) |

| (a) (b) () (d)
A) 3 4 1 2
By 1: 3 4 2 ¢
€) 2 1 3 4
(D) 3 1} 4 2

'c . ' ; 37 . ; GR1P
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94.

Match the following :
Person |

(a)  Abid Hussain

(b) K. Parasaran

(¢)  Subhash Kashyap

(d) K. Punniya

(a) (h) (c)

(A) 1 2 3
B) 4 2 1
©) 3 1 2

y 2 1 4

GR1P

Cummsss
IHLI
(a) =195 2. Caen
(b) K. ugmagen
(€) suray saguIm

(d) K. yawunr

(a) (b) (c)
A 1 2 3
(B) 4 2 1
(C) 3 1 2
Dy 2 1 4

[

o

(d)

Eminent field/designation

[Former Attorney General of India
Former Ambassador of India to the l_TS.;-\
Former Judge of AP High Court

Former Secretary General, Lok Sabha

gienm/uged
apanenn et @bl Seaneentd aupssDlehit
= Cwilssrajsaian apenanmar QbHu His

aperamer b rT 2 wibdwenm Bl

(petremer Qung deswer, @B &Esarenel

38
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95.  Consider the following statements :
According to the first stage of Demographic transition.
¥ Death rates are high. '
II. + Low birth rate. -
III.  Absence of medical aid.

Select the correct answer usmg the Code given below :

w [ and I1I only g (B) Iand 11 only -
(C) IIand 11 only (D) I, Il.and III

EDESETL FnDEND TS

WwEEET derens wrHpsSlen (g Hlenaudler Lig.
L . =fsora @iy eSsb.

II. . @eperar Gply aisb

11, W(HEFIeU 2 S6ll @levemeanto

Epsaan_supmier eflwner ellenL_mw Compels( &s :

A) I womon I vl @b (B) I wpmb I wlHb
(©) I wpmw II v Ed D) I 11 wpmw IIT
96. ° Consider the following statements, find the “wrong” one

1. Section 377 of the IPC recently reported in the news is associated with Lesbian, Gay,
Bisexual, Transgender and Queer (LGBTQ) Rights.

Joseph shine Vs union of India is the case related to 497 of the IPC.

Lo

3. Indian Young Lawyers association Vs state of Kerala is related to women Rights.

Yashwant Vs State of Maharashtra is the case associated with Right to education.

M 4 only (B) 2and 3 only

(C) 4 and 3 only B (D) 1only

EPEETL s DMESMET &(HSIEH, HFQ 2_dTer Seuprer saHepm SawrlHls

1. priy Qeiuflsaller eups @58 377 updu Hepereas “LGBTQ” 2 fensenLan
QLML W& @G0, -

2. Ggrel snlen el QbHw gendlud eremm eups@ @).5.8. 497 - ayLarn QST WIS G
3. @pdu @emd eupssdleisar adli Carer oirs eamp aupsE Guansdr 2 fewGur®

QSTLTLENLWIG < GLD.
4. weveus T OETITEVL Y |76 6TeiD cuLp&E sl 2 fMlanw s L GsT(H QsmLTLmL g @G
(A) 4wl@mo (B) 2uwpmb 3wl (Hib
(C) 4 wpmib 3wl B ' D) 1wl @
= 39 GR1P
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97. If the diameter of the earth becomes two times its present value and its mass remains
unchanged then how would the weight-of an objegt on the surface of the earth be affected
(A) Becomes half : Becomes one-fourth
(©) Becomes one-third _ - (D) Remains unaffected

yllblen eflLib @@mu&:@ Siflansgn Cung émg,s%!'@urr@édwsmm WDIDTDED @)(R&EEDS crefled
ylufler Gopuriile o edrer Qumrmetler erenL_ ereueumm Coumuhdlmey?

' A urd gdng (B)  predled om uedurdps
(C)  apande e uGHuTdns (D) wromwe GmsHng
98.  Nuclear forces are

\K)‘ strongly attractive force
(B)  strongly repulsive force
(C)  attractive or repulsive depend on nucleans
(D) gravitational forces

Sl &E Neng cTETLIS)

A) oidls serelley FFfT.'iEé;:é; Folq iG]

B) s emeliler el clleng

C)  <iamssm gismer Qurmssg rily elmasuinaCour g adlitiy ellemewrsCeun @qmmuﬁo :
D)  yeluiruy eSlens

99. According to Moseley’s law the frequency of the spectral line in X-ray spectrum varies as
(A), Atomic number of the element _
Square of the atomic number of the element | : d y
(C)  Square root of atomic — number of element
(D)  Fourth power of the atomic number of the element

Gomeed —udlen eflgliLiy iemewrameauiar ifliCadmmeant Qurmss X—sdisaflar @awrame
ereueumm wrmuGEna? ' '

(A)  safllngder oam cramaent) QUTHSS

B) -seflgglen igmy eresmentlen @) L_Miams QuTmss

(C)  sallwgden oigm cramaniian uiés apwsms AUTmEE

(D)  saflwgden oigm eramaniien prem@, wLkims Qunmss,

GRIP | e 40 e
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100. A Cathode Ray Oscilloscope (CRO) is used to measure —————— of a signal.
(A)  voltage _ ' (B) frequency
(C)  phase \M all the above
erdlimdlen eumis 5T dAemoey Mg (CRO), gdlensangulien ——————— o ojarés LwanuBHSng).
(A) Wl (L& sLd (B)  eidliQouem
(C) &L CGamewtd ; (D) Cumhsar wrayb

-

101. The Prime Minister of India :mnouﬁced the Havelock Island in Andaman and Nicobar
renamed as '

(A)  Netaji Subash Chandra Bose Island  (B) Shaheed Dweep Island
M Swaraj Dweep Island (D) Virsavarkar Island

sypsorer, H&Casrurfigidrar Canaiewrs alneE @bHw Wygwrre eydlefaa i Quuii eremen?
(A)  Cpsaned suney sndy Curev Say (B) smahls £..0 Say
© sy St Say (D) epseunsan Seay

102. Which one of the compounds is not a protonic acid?
(A) SO (OH), - (B) S0, (OH),
W BOH), (D) Po (OH),

Gemeumid Camngdler ergy CTTLLmen fld icvan?
(4) SO (OH), B) S0, (OH),
(C) B(OH), (D) Po (OH),

103. SO, acts as

(A) areducing agent (B) an oxidizing agent
w both reducing and oxidizing agent (D) neither reducing nor oxidizing agent

SO, eremug
(A) @ H&@D smyemfl (B) 2p58smen erpl
(C)  <=s8lmeanr gom — pH&EW sryeanf D) @rarGCGw Qeenaw
c ' 41 GR1P
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104. Nitrous Oxide is known as Laughing gas. It is also used in medical field as

(&)
(©)

A)
©

Instant horse power
Antiseptic

2 L ey &Hleny Smerr
gl(mibl préleaflwimrs

B)

Propellant

M Anesthetic

@BLgey psmsd Ao Hib- Gurru.; oren enpssluBEng. Goab @s) m@r)@eu glenmulled
Gemeumomm LweatLBHS g

(B)
D)

2 hay QummeTns

LWES W(HHSTE

105. Methane is the carbon compound. It's Molecular Formula is

S on, (B) CH,CI
©  C,H, D) ©al, _
BaCsem ep(p STTLEEGT Qa;nm@meﬂ (1 FLPESEFAN). DSEEDL W LPESFaM GUTUILILI W@
A  CH, (B) CH,Cl
© Gl D) cal,

106. Which of the following is strong acid and strong base reaction?

(A) HCOOH + NH, (B) HCOOH + NaOH

(C) HCl+ NH, HCl + NaOH

letreu(meuareunmier eiflw @b Bled wHmib Gﬁl‘flu.l Blens ary allaearamu Carhg) er(H&Esea|b
(A) HCOOH + NH, (B) HCOOH + NaOH

(C) HCl+ NH, (D) HCI1+ NaOH

107. Find the wrong pair/pairs :

3.
4.
()

N

Seumrer @enewn/ @) enawTgenars s (hiLdlly.

B =

o

%Y
©

GR1P

Metabolism

Auxin

Photolysis of water
Oxidative phosphorylation

1land?2

2 and 3

cuaTT&lang LOMHmLD

2, sadle

Bflen @afllnfargse

250l Cearhm umeuufgremTid
1 Hmb 2

2 bpmib 3

- L (HEwrss Gpréaatier eflenerser

42

Sum total of enzymatic reactions

Photosynthesis
Growth
Respiration

(B)
D)

2 only
3 and 4

gafldCensens

UETTES)

HEUTFLD

(B)
D)

2 bl (Hb
3 opmib 4
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108. ~ Which one of the following is need on a non-conventional source of raw material for the '
paper production?

(A) Bamboo - (B) Casuarina

M Sugarcane bagasse (D) Eucalyptus

&G @Ssrr@e'ﬁa;mut;@eﬁmsmuamﬂeb aeval wyysTgr  2.pusdl  Qurmerns  srflshd  HwTNEs
vUwetU(H&lms. '

(A apiudlé B) sousg

(C)  smby ssms D)  wsredluav I

109. Consider the following Endocrine glands :

1. - Islets of Langerhans —  Produce Insulin
2 Thyroid gland - Produce diabetes
3. Adrenal gland - Produce Goitre
Which of the following is correctly matched?
M 1 only ' (B) 1 and 2 only
() 2and 3 only »” D) 1,2and3

&Q@&w@é;a;uul'_@drm prandlean &rdseaie erg flwrs QuT@BBFILD :

1. @l e 2 Camgnamen - @easdanear Qar(H&@n

2. esmii@srog N e O

3. s flare &yl = (e 5SS s pe CET(Hi&E Wb
@A) 1ol ' B) 1wpHmb?2w (b

©) 2 uwpys3wlGb - @) 1.2 opmip3

110. Which one called from the development and the maturation of the erythrocyte from the

haemocytoblast? _
& Evythropoiesis - (B) Erythrocynin
(C)  Erythrocyte (D) Haemotocyte

EpssamLaupiler Qrss Heaiy Sigmdser adflwl GLmlemevysafldimpbg o meurdl  apdliés
SiaL_6uBn @ Guiuir

Q)  afgHGrmumiélen (B) mrﬂ{gﬁ@mm&aﬁeﬁ
(C)  aRsHCrransL. (D) aflol GLrenst

c " 43 o GR1P
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111. Combined drug in use to cure the Malaria is’
(A) Quinine Fansidar

(C)  Chloroquine (D) Primaquine

wCaflwureea @erLBSS SHGLITE LWETLRSSILELD gal [ Wb T8 ?
(A)  @WQenaren (B) Cuenflin
(C) ECamGrm@ules (D) ﬁ]@n)nbrr@a@@&

112, In mammals the mammalian glands are modied gland of following

1. Salivary gland
- 2 Sebaceous gland
3. Pituitary gland . _
(A) 1 only M 2 only
(C) 1and2only (D) 1and 3only

urn_ysafle) Lmed sr&ED sridasdr Gememn &nndwrs wrHpuul () dewduBHng
L 2 BT &5
2. sCuSlwen @&rindl

3. G w e/l sglndl

A 1wiEn | B 2o G
(C) 1 wpmb 2L Hid - _ D) 1 womb 3 w' Hibd

113.  Which of the following ecological I’yrainid 1s alwavs upright?
W Pyramid of energy
(B)  Pyramid of number
(C)  Pyramid of biomass

(D) (B) and (C)

Gerreumeuameun ey ergy Cryran @ pblenaudliicd saibry?
(A  Dme saldy

(B) GretTenilSens FalblLy

(C)  erem gaibyy |

(D)  B) whmb (C)

GR1P - 44 | _ e
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114. Match the following rivers with its famous towns :

(a)
(b)
(©
(d)

(A)
(B)
©)

Rivers

The Ganga

The Brahmaputra
The Yamuna -
The Tapti

LRl i

@ ® © @

4

3
3

G e e
| S O TR =
= D WO

Towns
Surat .
Agra

Guwahati

Benares

&G Qaarr@é;aﬁuut'_(gmm BHE@ET, DiG6 LS G\;IITLE;I'IBQ g;ﬁUféiéEGGlTﬂ(@ @;&>”|—':TL4U®§515 :

(a)
(b)

©

(d)

A)
(B)
©)
D)

BH&GET

SRIGT 1
tﬁhnbual_;gqrr 2
WP @I 3.
&L14) 4
@ M ©of -«
2 il 4 3
3 4 1 2
3 4 = 1
4 3 2 1

pem;nﬁa;si‘r

&S

<SLETT

Gaunanig)

LIGTTen

115. What is the covalency of nitrogen in ammonia molecule?

@A)

2

@"3

(B) 4
D) 5

<2iCunaflwrelé 2 drer enp_reeflen 5 NenewriiL] eTair

(A)
©)

2
3

®B) 4
(D)

(%7

45 o GRIP
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116.

Which type of Forests grows well in a area receiving rainfall exceeds 250 cm, and

temperature is 25°C to 27°C?

(A) Tropical Semi— Evergreen Forest
Tropical Wet — Evergreen Forest

(C)  Tropical Moist Deciduous Forest

(D)  Dry Tropical Forests

250 Q&.18. @b iflawns weany Qumle) wHmd 25° C apge 27°C ey Qeudiub 2 drar ugHseafle

GTeURUENS ST (N&ET SrawTiiL (Hdlemmen ?

(A)  swen e LTl LW WIHTE STHESET

(B) SIWIET T FILLSNES L&HE®W WIS STH&EET

(C)  wer ware FrLuslléss @enwwdi sr@sdr

(D) cumeiTL. iwen wawTL_c ST(H&ET

1. Project Tiger is a Tiger conservation scheme

2. It was launched on 1 April 1983.

8 27 Tiger Reserves have been setup in 17 states under this scheme.
Which of the statements given above 1s/are correct?

(A) 1 only 1and 3

(C) 1,2and3 (D) 2and3

1y UgmRsL el & erarug) Ledlser ungismlidnsns ghu@ssliul L Sl bmgEb.

2 @sH L b gl 1, 1983 & ghu@ssiulLg).

3. QS gdlanmer 27 Ledlsar Lngsmiusd 17 wrhlakisefld ghuBssiul Herensg.

ConEMALOuC Getereu e oray/crapey sfluratee?

A  1wli@o

(C) 1,2 wmmb 3

118.

(B)
(D)

1 wHmib 3
2 wHmib 3

Which type of rainfall is closely associated with Equatorial Region?

(A) - Orographic rainfall

\(?‘ Convectional rainfall

GR1P

wwsHwl u@Huled Qumluyb wanpulier cuams

(A) e gL weny

(C)  Geuliusear wanip

46

(B)
D)

(B)
(D)

Frontal or cyclonic rainfall

Monsoon rainfall

auafl(ps g LW wenw

LI(heuE &STHMI LOGOLY
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119. Inversion of Temperature occurs during
(A)  Short nights _
(B) Long summer night and chill night
M Long winter night and clear sky
(D) Cloudy sky

Qeauiud semediprs LIMeISHEE Coenauliu{HID @PHlena&eT
@) Gopbs Qrey
.(B)  Bewr CamanL srebd whmib Geflt smhmy

(C) Bewr @aflitarew wHmib Gg,@ﬂameﬁi QUITEITLD

(D) Guslb epig i cureid

120. The writing method of [udus Script was
(A)  From left to right only
(B)  From right to left only

(C)  From left to right and right to left

. M From right to left and left to right

Apg swbeuef ar(psg apenp eTeLg)

(A Quullmpba euewns eT(pgieug L (HLD

B)  cueoulmhs @Lwrs erpgeugl ol (Hib

(C) @uifimbg ubNS er(pSieug) LHMID ULl (FHg )L DTs
D)  eceb@bs QLions wHnb GLBlmbE eWLTS (PSS

121. With reference to Sangam period which of the following pair is/are not correct

(A) Tramiradesa Sanghatam - Confederacy of Tamil States
(B)  Udiyanseral — First Chera Mannan
"(C) Madurai Kanchi - Mangudi Marudan
Naura - Tondi

&mig &b GaTLTurer eflughiseilen Spsean_meusafled erhg @eén CHTL T DM 2 6TaTg)

Q)  HpbloCse stuargd - s warnaisaafien sal L entoliL
(B) 2 dwanCGeyed — g Gary ermaen
(C)  wgoT sTEHs - LDITRI@)lq LD(THSE
(D)  meygm - Qgmewrig
o . _ | 47" GR1P
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122. Who was recognised as the ‘Successor of Sivaji’?
(A)  Balaji Viswanath - (B) Balaji Baji Rao
(C) Rajaram. w Bhonsle of Nagpur

‘Aeungdullen éﬁmﬂa;’ eTaul S ES&MNES UL LU wimf?
(A)  urerg efleveunns . (B) urreungé] umedl grrey
- (C) @rimrymb ‘ , (D) wrdflen LimerenGa

123. The Battle of Talikota was fought in the year
(A) 1575 N .(p( 1565

sanesGamian U GurT BenUQUDHD eu(HLLD _
(A) 1575 . (B) 1565
(C) 1545 J D) 1555

124. Which of the following pairs are correctly matched?

1 - City of Jaunpur : - Firuz Tughluq
2. City of Ahamadabad " _ __AhmadShah |
3 Zain-ul-Abidin ! The Akbar of Kashmir
4. Founder of Khalji Dynasty in Malwa - Husain Shah
M 1, 2, 3 only 3 +(B) 2, 3only
(C) 3,4 orﬂy (D) 1only

Epasant_ @levanTaatley siluime @eaensaliul (Hererens seum(Hidlig.?

1. ggeush%i,r'r BETLD - 7 Gy gisens
2. SBWSTITS BEHTLD = DG AT ‘
3. mulan o oyG8en C— sraybfler eisui
4. wreveurailer Hag aubssens Hlmedweur — D M6~ AT

@A) 1,2 30L00 _ B) 2,3 wr{i>

(C). 3,4 @b g (D) 1w @

GR1P | ; 48 | =
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125. Northcote-Trevelyan Commission of 1853 linked with .
(A) Education (B) Agriculture

M ICS . (D) Industry

prigGam_-gyeawen sllageyL e (1853) Agmiymws,
(A) sl (B) &Seusmuid
(©) 'ICS ' (D) Qsmfe

126. In which field, the colonial regime followed Downward Filtration theory?
w - Educational policy - (B) Industrial policy

(C)  Social policy | (D) Commercial policy

b5 geonude sraafl s SpCHTad ey s Hib Carlur e Gerupdlug?
(A)  soell Qarerens (B) dsrfe gienn Qamerens

©) s Gsrdtans (D) Qumrmerrsry Qardrens

127. Which of the following refers “Unity of Spirit” of Rabindranath Tagore?
\K Unity of India

(B) Unity-in dive_rsity

(C) Consolidation of India

(D) India’s complexities

QueSpHupns sremfen “eusomigsora ghpw” aap AsmHOsT it S GG Leppdr smen
&lf@ﬁ@?{p@j?

@) @pdu eppe.

(B) CGeupgienoude @pmento

©  @bdu pomdm@eiy

D) @ssHureier LTSS ETENLD

= 49 : GR1P
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128.

Match the correct pair :

Planets Density
(A) Mercury - 1.000
@) Jupiter - 19.182

\M Earth - 0.387

- 129.

GR1P

(D) Uranus - 5.203

sflwren @avamrenwis Cairey Qe :

Gamer SILTES
A) Qi -~ 1.000
B) O Lir - 19.182
© gyl ' - 0.387
D) yCrenenv - 5.203

Which one of the following concept is not Ruie of Law?

(A) Natural justice

(B) Fair play

( Judicial equality

SpeupueuateunmieT o1gl ‘sl L SHen s F" e wing)?
A) Quiems B

B) PHwumuwrer QeunHur@H

(C) swwrE BELESULEL (GeCauTmaImHD ) G0

D) & ewsgeud
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130.

131.

132.

133.

The Judiciary was separated from the Executive under which article

W Article 50 (B) Article 64
(C)  Article 60 (D) Article 51

£8 giewpwinarg Blireurs senpuib GBS aTbs Spaa L o nuy pped 9fssiul L g?

(A) el =2miyb0 B) sl omiy 64
(C) sl 2miy 60 D) &l o muinybl

The Government of India issued the citizenship (Pondicherry) order in the year

' 1962 B®) 1964

(C) 1969 (D) 1967

@BHu SipeTRISD G4 wéseT 2 Mew (urangsGefil) emamrenws Weuatludi’ L e

A) 1962 (B) 1964
(C) 1969 (D) 1967

The Essence of “Judicial Activism” is an
w Active Justice delivery system

(B) Active Implementation of Rule of law

(C)  Active interpretation of law

(D) Active Intervention of Judiciary

“Geugnsad Qaream B4 culpriga” eaTUSET 2 cTaTL &aHLD
(A)  eflengeuns 4 cumiGaig)

B) sl gdlen sl dlenw 2a&sLTS B pernLIBSSHeuS
(C) oadswns s L_gmg llansdl sameug)

(D) easswrs fHgmn samaoui(Heug)

Balwant Rai Mehta committee in its report suggested

Three tier system (B) One tier system
(C) Four tier system (D) Two tier system

udeunsTTl GssT Geild siflsmauie ufbgeamrssiulL g
Q) pam ARG Yo (B) @Ids6 o

©  prang 056 o D)  Gran® 2AG&S eop

51
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134. Name the Prime Minister when for the first time the No-Confidence was moved in the

Parliament?
w Jawaharlal Nehru (B) Lal Bahadur Shastri
(C), Indira Gandhi (D) Morarji Desai

BrLA@wansHd wsed weanwrs pbdsmaldor Srorand Qsrar® eubs Gumrg Grsw
DIGLDFFTTE @)(HHSEUT wim?

Q) geasiwrd Cpm B) o usgT srevAf
©) @ndyr &mﬁéﬂ (D) Qumyre) Cgemi

135.  Which of the following statements regarding the fundamental duties contained in the
Constitution of India are correct? '

L Fundamental Duties have formed apart of the Constitution of India since its adoption
i Fundamental Duties are applicable only to the Citizen of India

III. Fundamental Duties have become a part of the Constitution of India in accordance
with the recommendation of the Swaran Singh Committee

IV. Fundamental duties can be enforced through writ jurisdiction
(A) I, II and III correct (B) I, 1II and IV correct
G 10, 10 correct (D) T and IV correct

Spsa_ smpmsaie sflwurereupearn Csiey Ceus. Gearaumbd BbSHw irflueennli &[-_L_'dj‘)é;]@.

SiigUILIGHL SLEOWSET GDSE e Fflwrer sanmisHer wWmeneu? _

L @rfu sirflueenly Ll 2 maursdudled GQmbE glUmL SLW @ UGHuUNs
Bobs @Ay , '

IL. @quuml_ sLe QBHW GlgwsasiE wl HGw Qurmbgid

III.  eveugen & @ epobd SigliumL sLew&mar @f UGHwrs Srfwoeaoi] sl sl
CarssiulL g

IV. g8l CGuinenemraer CbD@)LiI'.} Sl LILeL SLWseaT HleneubmiL (pig b

@eummla :
A) L II womo III &/ ’ B) I II opmwo IV &f
(C) II, III &M (D) I wpgw IV &f
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136. The mandate of the official language commission under Art 344 is / are
g The progressive use of Hindi .language for official purpbse of thelunion
2: ‘Restriction on the use of the English languaée for the official purpose of the union.
Choose the correct statement(s) :
(A) 1 only (B) 2only
\M both 1 and 2 (D) neither 1 nor 2

Sirflweewliyd sl 755 344 Ep o @amssiulL YU A Quryld yoenwsHer uLenfl
&G UHMIET 6T8)?
1. @ndw geamdwgHer < & Qurflurs afipdeaw ugliugurs sSouOSgGeug

2. @ndu  geaPlugder o d CDorPurs Hyhdogast vLETURSSHIMSS GHDDSSHE

- Qamrereug).
sflwren cursflwugens CorbEsMH :
(A) lwl@w B) 2wl@pw
- (O) 1, 2 8lw Qrar(Hid D) 1, 2 Qeoa ggedldeme

137. The words “Socialist” and “Secular” were added to the Preamble of Indian constitution by
(A) The Constitution (First Amendment) Act ;950
(B) The Constitution (Sixteenth Amendment) Act 1963
(C) The Constitution (Forty-Fifst Amendment) Act 1976
M The Constitution (Forty-second Amendment) Act 1976

ahs sArflwaamoliys Hmpsss s Lsdar S QBHw srHlueeawlyé steagda “Garaallsw” WwHHWD
“gFsTiUDD” TEM euUNTEamsser CardaiL_Len? .
A) @seraug s sHmssn 1950
(B)  uflenmpresg s sHmEsD 1963
(©) . prpusd @mmn@g,j sl LsHmasn 1976

D)  mrousdH @rewr_reug L sHmESHD 1976
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138. Who is among the following associated with “PURA” model?

@)
v
©
)

Dr. M.S. Swaminathan
Dr. A.P.J. Abdul Kalam
M.N. Roy

B.S. Minhas

Epasar_auiserer wrm ‘U wrdACwr® QerLiyemLweur euir?

(A)
(B)
©)
(D)

LT&LIT 6TLD.6TEN. &HeumdlBmgen
L 6.19.Cay. iigidsamd
GTLD. GTET. Ml

19.eren. OleEmen

139. Norman Borlaug — is associated with

1.
2.
3.

s

B)
©)
(D)

high yield variety seeds

chemical fertilizers

chemical pesticides

Select the correct answer using the code given below : .
1 only

2 and 3

1land 3

2 only

prriwen GuTTens — eretucuT QBT wig

1.
2.
3.

(A)
(B)
©
(D)

GR1P

eSflwrys elengaar
JEMULIEHRT 2_[JRIGET

remuenT L FHEC&HT0) (b &eT

&Cp Qasrr@és&;uuLL_smaJasefﬂd.) &rﬂ_ﬁ_lrrsm eflenL_anw CarblsHiés :

1 (B
2 wpmo 3
1 wHmd 3
2 (b
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140.

141.

142.

In which of the Industrial Policy Resolution (IPR) the establishment of socialistic pattern of

society was adopted?

(A) Industrial Policy Resolution of 1948
m Industrial Policy Resolution of 1956
(C) Industrial Policy Resolution of 1985
(D)  Industrial Policy Resolution of 1991

aps Azmfnlsraens Storaigded “swsio  wrHM  swsTLMs’ THURSHSDL ETETLS

ghm&QarereriulLg)?

(A) 1948 oyib e[ QamPpGaraens Srorend
(B) 1956 b e (® AsrfpGsrarens Siomernd
(C) 1985 gyib yer(® QgrfnEanerens Siomard
(D) 1991 @b e QamPnsrdarens Sioren

Inflation adversely affects
(A)  Profit earners \M Fixed income earners
(C) Speculators (D) Investor

UaTei&5655T THT®DWITES UTHES Saly WeUTHET

(A) ermuw FHGeurt B) Heveowrer cumeumis i HGeurt

(€) easaunailugdo rHuUECounr (D)  @pseSimert

The objectives of Monetary policy is / are

L. Price stability '

1. Economic growth

ITI.  Social justice

IV.  Reducing budgetary deficit

(A) Tonly * (B) II and III only
\(f\ I, IT and III only (D) IV only

uamallwed Ganearengullen CrmasnisaT eTerLg)
1. aflenev Hlenavggenento

IL. QummenTsmy cueTT&d

III.  seps B4
IV.  sp& curey-Qsewey S sHen upDT&GmDe GanLiLg)
(A) Twl@wb : B) I wogw IIT wiGib

(C) I II wpmd I wr @id (D) IV @i
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143.

144.

145.

GR1P

With reference to NITI AAYOG, Which of the following statement is / are correct?

(1) Tfansform_ing and development agenda of India
(ii) Promoting growth and development.

@\ ) only B) (i) only

(C) (1) and (i1) only (D) Neither (i) nor (ii)

H8 2 Cuns smEgLILLG., Spssan_cupme erg sflwrar sapmy eranums s By 5872

(1) @rdlurelen cuerisd Crrésmsamer THNMS QFieug)

(i) euert&d LHMD perGarnHpHang CuwbuBSgeug)

(A) (@) wli@w ‘ B) (i) v @b

©) @) womw (i1) wI_ b D) () wpmbd (ii) geuprearenau

The “Social Protection Index” has been coined by
Asian developmeﬂt bank
(B) World bank
(C) UNDP — United Nations Development Programme
(D) Planning commission of India

“sapsmw LngisTiy GOUSEH”, wmyme a_@éuréaa;ﬁ:uf.,l_gj
(A) AW eueniiEs) eurmidl

(B) a‘ma; GUmIE) .
(C) UNDP — g&dw pr@sefler euenédl Siib

D) @pdudisEw

Pradhan Mantri Gram Sadak Yojana (PMGSY) is primarily
(A)  Rural Water Supply Programme
(B)-  Rural Employment Generation Programme
Rural Roads Development Programme
(D)  Rural Health Programme

Grsw wHAM Hyrbd 516 S breng) Speu(HeuaeuDmIeT GTHDHE (LPSETELDWITETS)
(A) 2as @GR eusd b '

(B) eaps Caumeeumuliy b

(C) oaps sneme Cuwum B HLb

D) amr;&.-&.srrg_,rrq S
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146. A closed economy is one which
» L does not trade with other countries

I1. does not impose and restrictions on international trade

ITI.  does not have a coastal line
IV.  is not a member of the United Nations Organisation.

Select the correct answer using the code given below :

w I only

(B) TIandIIonly
(®) I, IT and III only
(D)  all the above

Spaa_cunmled 678 Genm el QuTEHeTTSry-

I. 9 presesen cunenflLib Cup@srerents QuUMBHETTSTTID

II. uanenT_(® eurenflugSle eThg senLwib el iLg @dama

III.  sLe eufll ureng Gerarsg)

IV. g&du prpsafiar sewibe o grnfernt Gaemod @muug).
Spsar_cunile erg) enm sflwmarng) : -

(A) TwlEwbesef

B) Twpgw Il

©) LI wpgwo IIT &M

D) Cunsar . simardHID

147. According to R.C. Majumdar’s statement, the Revolt of 1857 failed because
(A) there was no unity of command in the armies_ of revolt
(B) the army of result suffered from serious financial difficult
(C)  the Indian states did not support the _revolt
\W there was no coordiality between the Hindus and Muslims

24,7.8). g Obsrier sapmiug 1857b e%;s'rr(a yrl&lulen Caneveilssmen smyemid
A) @uremie eipiseflib @hmen @aeme |
- (B)  @rremieu eSyirseaflb QuTmeTTETT HagL b Q(HHSS
©  @uurdifie @pHu wssd gsra Gome
D) @z v @hmienw @dema

' ' [Turn over
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148.

Read the following statement and find out the correct one.

1:
2.

A)

C.R. Das was known as Deenbandhu

He was the uncrowned king of Bengal

1 only

NG Both 1and 2

&G Qar@sasuiulLeaupean eunélgg), eflwrer el amw Combos(H.

149.

150.

)

GR1P

1.
B
(A)
©

C.R. srmev, Sanubg) erem lws Lmi
Beufm eURISTETSSET (Lig G LT LDETETT
1wl (b

lwpmiwb 2

B)
D)

B)
)

2 only

Neither 1 nor 2

2 o Bid
1 wHmIb 2 Gevene

Which song is called “The Bible of Modern Bengalee patriotism”?

w Vande Mataram
(D) Devi Chaudhurani

(A)
©)

Jana Gana Mana
Gitanjali

‘Belan qumigTar Caeslen enuile T Senp&sLILI(Hieug)?

(A)
(©)

EDEUT HeTT Lo

Esmepaad

(B)
- (D)

upBGg ISTLD
Coell Caergnyentl

Who said “I am an Indian Tomtom, waking up all the sleeping sleepers so that they may
wake and work for their motherland .... This is my task”?

(B)
(©)
D)

Mrs. Annie Besant
Ravindranath Tagore
Sarojini Naidu

None of the above

“mre e(m @QbHw Loy Ceeued gudls Qararry mULUuTSmer Brean er(plds AaramCGL. QmuGuer.

SLCUTFHSTE DEUTHET CT(PHG SMSET ST BTLlgmEns UTHUHeUnTEET

ereum S Mwieuir uimm?

(A)
(B)
©
D)

&@Gﬂ@ums’m'_ S| DELOWITT
TeNBSIBTS STFall
sCrredlafl pmuy®

Cupandlu wrmLdldena
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151. What was the form of Struggle that Congress adopted against the British in 1940.
(A) Non-Cooperation '
\m Individual Satyagraha
(C)  Mass Civil disobedience
(D)  Armed struggle

1940-e srridlyev ymdCowmes adims eareucuamawurear CUTITL L 608 SWTERTLG|.
(A)  esgepuTdL QuEsD

(B). sgfundlgsd

(C)  Qummér Hmer Loy Quéstd

(D) CGumpricibd

152. Consider the following events and find out the chronological sequence of the events

1. Chauri chaura incident

2. Russo-Japanese war

3. Gandhiji returned from South Africa

(A) ‘1,23 _ B 21,3
© 3,21 (D) 2.3, 1

Yeeumeuareupmier smew auflensliugwren Hlswpeysamer Caib6sH
3 Qsarfl Qgerym Flapssl

2: reyw — guurestlu Gumi

3. &mhd Asanenmudfssrelier @) mHa Hmbyse

A . 1,23 B 21,3

© 321 WM 231

153. In which year E.V. Ramasamy became the Chairman of Erode Municipality?
(A) 1907 ; (B) 1909

\W 1917 (D) 1919

erhg cumLLd r.Gou. @rmosmsl Gy 'r_r;&;qrr-f_aﬂuﬂ]sh SOGUTTE @) (HHSTT?
(a) 1907 (B) 1909
(© 1917 (D) 1919

e e 59 | ' GR1P
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154. Pocket money received by 7 students is given below.
T 42, T 22, T 40, T 26, T 23, ¥'28, T 43
Find the median.

(A) %26 (B) %23

' <2 D) <22

(1 wraweuiaer faé dewelnans eurkdu uamb EC AarTRssUuL(Hererg).
T 42, T 22, T 40, T 26, T 23, T 28, T 43

@eupdler @enLBlenauieneneud &TeRTs.

(A) T 26 B) T23

(C) T28 (D) 22

155. The Range of the first 10 prime numbers is
(A) 28

B) 26
© 29 P
s 10 usr ararmsaflen elFs

(A) 28 B) 26
(C) 29 (D) 27

156. The students of a class donated ¥ 4624 for Chief Minister's State Relief Fund. Each student
donated as many rupees as the number of students in the class. Find the number of
students in the class

(A) 64 \M‘ 68
D)

€ 62 78

@@ euGLlld o arer wreweuisar on.4624 epw pgeenwésilen wrhle Heungewr HlHwns Qegigdart.
@euleun(p wraTaHL FaE URSTS sa1g auGUd o drer wrarauirsallen aanamilsmas@ Fwwne
Qgrensamw QarHigsen erafle cuEle 2 arer wrerTiser erigenen Gur?

@ 64 ®) 68
(C) 62 (D) 178
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157. The average height of 10 students in a class was calculated as 150 cm. On verification it was

found that one reading was wrongly recorded as 130 cm instead of 140 cm. Find the correct

mean height.

(A) 150 cm (B) 152cm

(C) 153 cm u;f151 cm

@ auELld o arar 10 wremreuisaflen sgmefl 2 wmd 150 Q&b. erans samsd LUl Lg. sfluriéEn
Gurg 140 Q&b eramueng 130 Q&S aran geunns a(PH5E Qarareruul Lgns Qsfluaubss. sfwrear

syrEf 2 wWyb Srerrs. _
(A) 150Qs8 (B) 152 Q&b
(C) 153Q@&8 f (D) 151 Q&b

158. What is Mean of all two digit Numbers?

& 545 B) 495

(C) 45.5 (D) 44.5

imeangg rilwss aansailer srraf eranen?
(A)  54.5 (B) 495
(C) 455 (D) 44.5

159. If ax® -28x+49 =0 has equal roots. Then fhe value of a is

@ 1 B) 2
© 3 N &
ax? - 28x +49 = 0.ereny swETUMNLig 6T epiiEET S eTefléd a & wliy

A 1 ®3B) 2
(C)I 3 7 D) 4

e 61 GR1P
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160. Find the median of the data.
12, 14, 25, 23, 18, 17, 24, 20
A 23 (B) 18
) 17 ' M 19

12, 14, 25, 23, 18, 17, 24, 20 erenp eSeuriusaflen GenL Hlenevenwis srewms.
(A 23 B) 18
<© 17 D) 19

161. In a two digit number, the digit in the unit place is twice of the digit in the tenth place. If
the digits are reversed, the new number is 27 more than the given number. Find the
number.

(A) 63 M 36
D) 39

(C) 93

e Flledss aarafla, gammbd QL @Qeés erar, ussTD @)L Qwss aamameamGurd @ WL RETS
2 arengl. Qessmsar @LLD wrhlamd e s yHwu aar Qar@ssiiul L aaraeareil 27 Sifswn
erafler QarHssuu L Frlless erarreaneants seuwr(Hiiy.&s.

(A) 63 (B) 36
(C) 93 (D) 39

162. The population of a village is 32,000. 40% of them are men. 25% of them are women and the
rest are children. Find the number of men and children.

(A) 12200 men, 11800 children
M 12800 men, 11200 children
(9)) 12220 men, 12200 children
(D) 12200 men, 11200 children b Sin

@@ Sgrwgder waser Ggrens 32.-000 o arenent. euisafiey 40% yeamaer, 25% Quamser, WBgb
2 eTGeTm T GLPHEMSEHET. SMEET HOID GWhenssaflen cramentsmaamws srams.

(A) 12200 gyewrser, 11800 @pangaer

(B) 12800 yerser, 11200 @phengser

(C) 12220 gyawser, 12200 @yhagser

(D) 12200 gyamser, 11200 @Gphengsser

GR1P ' 62 (=
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163. Find the greatest number of four digits exactly divisible by 15, 21 and 27.

(A) 9999 \@( 9450

(C) 9845 , (D) 8505

15, 21 womib 27 Hdw eperm eaamsearre WHuland aguBw BsLGuilu preang Qass Quid eraw

erg)?
(A) 9999 (B) 9450
(C) 9845 ; (D) 8505

164. The GCD and LCM of two polynomials are x+1 and x*-1 respectively. If one of the

polynomials is x® +1, find other one.

@ &1 . \M(xu)(x?-n

(©  x2+x-1 D) x-x+1

A ueamliys Caremesaiear B.QuT.eu. wHmL B.QuTwL epGu x+1 wHpbd x* -1, Cogibd

@ ueImLILECsTane x% +1 aaflé, wHAPTETNS ErekTs.
@ x*-1 ' (B) (x+1)(x*-1)

© x*+x-1 O - x + B

165. - Find the Highest Common Factor of 4p%q®r, 8p°q*r?, 16 p’q*r®

@  4pq'r’ G v

(C) 16p*g°*r (D) 16 pigr*

BLQum Qugeuesd srams 4p°q’r, 8piq*r?, 16p*q*r?
A 4prt B) 4p’*r
©) 16p°q°r D) 16p°q*r®

(— 63 GR1P
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166.

167.

168.

Simplify the following:

(A)  x?-2x+4 \M x®+2x+4

(C) x%-2x-4 D) =x*+2x-4
) ‘ - 3 8
&®5®5'x_2+‘) -
Ay x?-2x+4 B) x*+2x+4
(C) x®=-2x-4 D) x*+2x-4
Simplify : A + L + _,]
m+1 m+1 m~°-1
@A) m? R =
m
1 m?
o L N4
© m* ' .
FHEGS | ——— + : + ;
Chex: Al T
. ] % 2
@)  m __ )
_ m
' 2
© = @ - =
m- m- -1

If 3a +4b =22, 8a -5b=—4, then the value of (a+b)* =?

(/ 36 ' (B) 72

_ GRI1P

(C) 25 (D) 49

3a+4b =22, 8a-5b=-4, aaflled (a+b)*an wH U wirg?

(A) 36 (B) 72
(C) 25 ' . (D) 49
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169.

170.

I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in it.

(a)

~ (b)

(©)

Ay
(B)
©)

4

What is the ratio of orange to yellow cubes?
What is the ratio of green to blue cubes?

How many different ratios can be formed, when you compare each colour to any one of
the other colours?

(a)
3:1
1:3
1:2

_2:1

(b)
1:2
2:1
3:1
1:3

(c)
10 ratios
4 ratios
12 ratios

12 ratios

erenefl(pater g QU iguid 3 uFens, 9 Beod, 4 EHEET, 8 BYTEHE GTaT 24 CUERTERTE SETE §8)THIGET

D GTemant. eTErTley

(@
(b)
(©

(&)
B)
(©)
D)

2T EH& DDMID LOEHEET HeFFgIThisaflen eNSsD oremen?

u&ens HOID Bew sarsgrmsafler aldsib ereen?

R uaTERTSMS HD euaTenTrRISGETTH UGN eTigmen SlHFRISET STapamid?

(a)
3:1
1:3
1:2
2:1

(b)

1:2
2:1
3:1
1:3

(c)
10 ratios
4 ratios
12 ratios

12 ratios

A troop has provisions for 276 soldiers for 20 days. How many soldiers leave the troop so

that the provisions may last for 46 days.

(A)
©)

136

146

276 ofipiiser 2 ater e LLLTaTESD 20 prlsEns@s Comauwnar sowwd QUImHETEET 2 6TeTs.

Qb Qum@eTsar 46 praTsErsE buss Cauar®walld agsmer aSrisdr @BsLILLL TETSMS

L (Hé& Deevrer CeuaT(HLb?
(A) 136
(C) 146

65

GR1P
- [Turn over



https://applink.adda247.com/d/XhqWf9lSap

Adda247

171. Using clay, a student made a right circular cone of height 48 cm and base radius 12 cm.

Another student reshapes it in the form of sphere. Find the radius of the sphere.

M 12 cm (B) 15cm

(C) 9cm (D) 14cm

seflaraany uweatu®SH @@ wrameuar 48 Qal 2 wrepb 12 Qel T QsrarL. CrT eul L
Samnd sabenud Qelgrr. S&amibenu wHEDTH wrewreuT 6@ Heawrnd Csremoms mn@gﬁlmm‘r.
icueurm wronuulL yHw Caneargdlen oy rsamss simes.

(A) 12 ecm (B) 15cm

(C) 9cm : (D) 14 cm

172.  The radius of a spherical balloon increases from 3 ¢m to 9 cm as air is being pumped into it.

Find the ratio of volumes of the balleon in the two cases.

A 1:3 (B) 1.9

J 1: 27 (D) 1:8

3 Q&5 b Qarerr Camer euigeu -u@ﬁsuﬂs‘q srhn Cegssiumn Curg s b 9 el s,
Sifafgame, scuedm Hlanasafier ugeafler sar jareysafldn el flssmss sreamrs.

A 113 (B : 9

© 127 M) 1:8

173. If the circle with diameter 4 cm is inside of the circie with radius 10 em. Then the Maximum

possible distance between the centres is

A 6 B 7

MS | . D) 9

4 cm 6l Lgeng Gasmeam eul L b 10 cm yraparw eul L gHepyer o drer Cumg) @) (mH enbWmSEhaE
QoL Cw Qmés Quad Sieuls smb aeer? '

A 6 B) 7
C 8 D) 9
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174. What is the half of the area of the triangle whose vertices are (1, 1), (3,1), (1, 3)?
\gﬂ” 1 B) 2
() 4

D) 5

@ weGaransdan paarsar (1, 1), (3,1), (1, 3) erafléd wigen urtueatelle LTSl Sraws
@A 1 B) 2
e 4 D) 5

175. A silver wire when bent in the form of a square encloses an area of 484 sqm. If the same

wire is bent in the form of a circle, then find the diameter of the circle. (use 7 =@)

@) 14m | | @(28111
D Tm

€€ 24m

@@ Qeudralls &bl cumarssiul[H egyonrs LIHHIL CuTg. g L UL uGHuler Lguy
484 5.8. =G Qevatafls sblbenw el Lbrs eumarssIu(BHng crafle eulLgder efll L b cremen?

22

(r= o cren&QEmens)

(A 148 B) 288
(C) 248 | D) 78

176. In how much time will a sum of ¥ 1600 amount to ¥ 1852.20 at 5% per annum compound
interest
A 2 years M years |
(C) 4years - (D) b years
T 1600 <yang 5% <pa(® sl B ul ly 65 Qaran( assmen am@said I 1852.20 @yEw?
A) 2 syaEmpser B) 3 yem@se
©) 4 yem@ser D) 5 e ser
= 67 GR1P
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177. If 123 represents “GOD”, 456 represents “CAT”, Then “DOG EAT EGG” may be represented

by
’ (A) 321 456 411 ' (B) 321 756 811
(C) 321 856 911 \gf 321 756 711

123, eranugy “GOD” erauengub 456 eranugy “CAT” aramuamgyn ghlissted “DOG EAT EGG”

TR, GTEHETTE) (GHI&S UL QMD
(A) 321 456 411 : (B) 321 756 811
(C) 321 856 911 (D) 321 756 711

178. Find_the number of 3 digit natural numbers which are divisible by 6

(A) 151 M 150
(D) 149

(© 152

6 2 UEULE sngw 3 Qoés Qe erarsaflen crananflsms srams
(A) 151 (B)y2 150
() 152 _ | (D) 149

179. Whatis the probability that a leap year selected at random will contain 53 Sundays?

(©)

(B)

eSS R
= =afw

D)

goeumily peanude Ggr‘r,r_'r,Gg,@ésa;uQ@Lb a5 eu@LLD 53 @muinms Spenwsamer Qaran(® @)(HEs

Blepsse) wrg?
2 3
(A) = (B) 7
4 5
© = ® -

GR1P | 68 | | c



https://applink.adda247.com/d/XhqWf9lSap

Adda247

180. - Which among the followings are the major reasons for driving out sourcing?
1.  Technological innovation.
2.  Economic emergence of developing nations.
3.  The knowledge based economy.
4, Favourable balance of payment.

Select correct answer from the codes given below.
(A) 1and 2 (B) 4and?2
1,2 and 3 (D) 1,3and 4

&G @GOG Ll (HeTerameusatie Qeut SYFTIRISEDET @) (PUILISDSTET (PSS STy 6wl S6T
1. Qarfled mIl L serHilig Lser.

2 auem(mLb BrHsefley QummeaTTsTy perCerhmid.

3. =udley &ﬁfr;_'r;g QurmeTTSmiD.
4

a158 eurantiué @phlane.

eOuipseaila @mba sflwrer eflenemw Agile) Cslis.
A 1woHgb?2 ' (B) 4 wHmb?2
© 1.2wopmon3 _ (D) 1,3wpmw 4

181. Which of the following factors influence digitalisation in banking sector?
1. = Changing consumer behavior.
2: Financial inclusion and government initiation.
3. Increased smart phone usage.

Select the answers from the codes given below
(A) 1land?2 B) 2and3
(©) 1land3 M 1, 2and3

Qeeumeuameupmier curiid gieppullaner LlerareniLi(HSSieuSHEd STTERTLONET STTaRtl&eT Wrened?
1.  m&rCeurflen BLeuly&sensudled TmiH0.
2.  HHude 2 eremL &b HMID TEeT PuDS.
3. sifls sereile sl msGuél LRSS,
GHlpsaio @ mba eflwrear elenemw Gsfley Qauis.
A 1wHpb?2 (B) 2wpmwn3
©) lwogw3 (D) 1.2 wHmwb 3
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182. NITI Aayog Launched, ‘Atal New India Challenge’ program on April 26, 2018. This
initiatives is related to '

1.  To design and demonstrate market ready products based on cutting-edge technologies.
2.  To provide grants upto Rs. 1 Crore.
3.  Related to Agriculture and industrial sectors any.

Select correct answer using the code given below

W 1 and 2

(B) 1and3
(C) 2and3
(D) 1only

euged 26 2018 ey Hld Cwns ‘@i ydu @rHwur SQUTEEET ararm Sl seng Silapsid
Qaugg. @S LD GeaunCor® AsTLiymLwg .

1. cwr Gsmfled mluggLer sngw sHMSLULOSS SWIITE 2 drer QUTIHLSEMET GUlgUMDSE
eflen& @ .

2. url 1l Gsmg eueny Hlgluysed.
3, Geuermesrento wHmb QgmAng@nCur® w-Gb QsryeLwg,.
' @MuiGaeater @mbg sflwrear slam_amw Gsfley Qelis.

A 1womb?2
B) 1 opmid 3
(©) 2womb3
D) 1wvol@bd
183. Cord Blood Banks located at —————— in Tamil Nadu.

M Chennai

(B) Coimbatore
(C) Madurai
(D)  Trichy

Qsriiyer Qsmy. 158 Gy euiid sOPsEHD 6TriE, DIDBSIETETS)
(A)  Qseenen

B) Cesmwubyssmm

(©)  wgey

D) Hmes
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184. Jal Kranti Abhiyan was not launched in the following Indian cities

Raipur
(B) Jaipur
(C)  Shimla
(D)  Jhansi

‘i Ayripd sndwnan’ S b @bdwneild Geraumbd eThs BETSSID BOUGSSILLeflhea

A gmayr
(B) Qg
(C)  eSlber.
(D)  gmans

185. Consider the following statement.

50% of the India’s poor people live in followingl states.
Uttar Pradesh, Bihar, Madhya Pradesh and Jharkhand.
Goa, Karnataka, Andhra Pradesh and Jharkhand.
Bihar, Gujarat, Himachel Pradesh and Jammu.

Kerala, Sikkim, Arunachel Pradesh and Bihar.

W B e e

Which one of the above is/are correct?

M 1 only ; (B) 2and3

(C) - 4only . (D) 1l1land4

SLpaetr_ Gurrésﬁugsﬁg) Feue
@pdwrefe 50.0 eg6is gerw waseT SpaaTL wrflokisafld eurpdpriser.
1. 2 §87 197CsawD, S, s 197G WwHmID QTSI .

2. Gameur, sTBTLSD, b T ArCsed HMID mieer .
3. Saonf, gmrrs, @wrew G9rGssid wHmib Hbp.
4.  Gsrarm, HE8b, ymewmea DrCseb wHmID Sammi.
Gl Qasr®issLul_{Herareunmled sTencu(ser) sflwnang)
(A) 1ol @on (B) 2 wpmb 3
(C) 4wl @b ' D) 1wHmb4
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186. The Urban Heat island effect is due to
1. Concrete floor in Urban area.
2. Low moisture content in the soil.

3.  High wind velocity.

4. High rainfall.

Which one of the above is/are correct?

@A) landd4 | -
M 1and 2

©) 1, 2and 3

(D) 4only

“pay Qauip i’ GHUGUEHE

1. pamd ppeugid arendfi_Lmemer sgen GoHurliy
2.  wvanefler G@neuret FrULSLD.

3. afs srpdler Gousid.

4. 9fls wenl Aumfey.

CuwCe QarHésiulLameasafld eraneu(ser) sflwurarg
(A) . 1wpmwb4

B) 1wHywb?2

©€) 1,2whmyb3

D) 4uvlEw
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187. The first language declared as the classical language in India is
(A) Kannada _ (B) Telugu
(©) Oriya ‘ \Spf Tamil

@pdlureile eb@wmwurs Hflelssiul L apse Gwmy
(A)  semenb ' B) Gsame
©) eflwur : - (D) &b

188. The headquarters of the Interpol is situated in
(A) Vienna : Lyon
(C) Washington (D) Geneva

siauGse sTeud giampusssler, (G TGLTD) SmomLWLISD SiewhgiaTer @)L LD
(A) ewemem “(B)  OGumen
C)  aurafiar ' (D) Qgaflaur

189. The book ‘My Presidential Years’ is written by
(A) K.R. Narayanan (B) Giani Zail Singh
(€) S.D. Sharma W R. Venkataraman

‘e GyedlClLeim_afluic) Guife’ eretim mredlenest er(pdlwieuim

&) Cs.yf. promuesrenr o (B .!ﬂﬂ_m_'@ﬂ GQggulled Hri

(©C)  erev.ig. agiwom D) i Qeurs_grwoen
190. In which year “National Award to Teachers” was instituted? -

(A) 1960 M 1958

© 1959 . (D) 1962

‘g Afwisenésrar CoAlw alma” ehe ey S Tbl9ss Il L g)?
(A) 1960 ; (B) 1958
© 1959 D) 1962
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191. Pandit Deendayal Upadhyay National Welfare fund assisting to whom?
(A)  Outstanding Research Scholars

Outstanding Writters

\M Outstanding Sports Persons

(D)  Outstanding Farmers

LaTg L Sanswrer e ursSumu CsAlw pe 2 569505T@ms WTHEE auphsLILEEDS?
(A)  Sosg eflerii@d yymIFHLITETTSEHE®S, |

B)  Sopg e erpSFTETTHEDEE

(C) SHopg efetmigild G\Sllsmmurrl'_(g SSIT&EHE®E

(D) HApbg eSarmiEd efleusmulils@nsd@

192. What is the purpose of Gaganyaan project reveals by ISRO?
M Three Indians would be sent to space
(B) Communication development
(C)  Protection to ﬁshérmen including assistance to them

(D)  Assisting customs in anti-smuggling operations

@evCrm Qeuafliu@Gsuyerer “ssanurer S L sHer” CHTESLD cremen?
(A)  epery welsrsamen aS.!a&gTGlsuaﬂéa@ QE@IILGED

B) sseue Qamiy

(C) BSeveuiiseer UTHSTUILF WHOID AeuTH@ERssTaT 2 g6l aflling

(D) seaerss_Ss@e HHUILSHETa QFwdpansaficr 2 gellwirs @HUUE
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193.

194.

Which of the following group constituted the State Reorganisation Commission?

Pannikkar, Fazl Ali, Katju

\M Fazl Ali, Pannikkar, Kunzru

(C) Dhar, Fazl Ali, Pannikkar

(D) Kunzru, Katju, Dhar

wrlomser UL pemenmusdle QL b Qubm @ e7g?

(A uellés, L 216, s &

(B Sumd 6l uamflast, Gete(m

(©) &, ume 26, Leaflsai

D) Eaevm, sl i

How many states in India have achieved 100% Household electrification?

(A) 10 States
B) 12 States

©) 13 States

y 1% States

@rdwurele assman wrHlomsafler 100% eSHsEREE Wer cusd gpuBSSUIUL(HeTerg?

(A) 10 wrhleniser
(B) 12 wribleomiser
(C) 13 wrhleniser

D) 15 wrHlenser
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195. Whggs the head of the three-members Lokayukta search committee?

Thiru. K. Venkatraman (B) Thiru. K. Chanduru
(C)  Thiru. M.K. Krishnamoorthy (D) Thiru. A. Raja

gpenmy Guir Glame Geomdyu|ssT—ell6n Gg@§5® &L SE®EGUIT WITT?
A) . K. Qeurus_gmwoen B) Hw. K. spzm
©C)  Hm. M.K. Simesamepiss (D) Hm. A. grgn

196. For which country Prime Minister of India announced Rs. 4500 crore for hydropower
projects 2018?

(A) Nepal - (B) Pakistan
Bhutan ! (D) SriLanka

g BriigHE Qbslw Wrsw whSil eurser . 4,500 Gamg Filler £ L hisErdésts LkigaNULSTS
20186 yMleliggmi

(A)  Cmumemd B) urdlevgmen fl
©)  yrmer (D) geomoms

197. Which statue is called as “Statue of unity”?
(A)  Statue of Liberty (B) Statue of Mahatma Gandhi
yf‘ Statue of Sardar Vallabhai Patel ~ (D) Statue of A.P.J. Abdul Kalam

wrmenL_w Hlena, @hmientoudler Saawimi SmsLiLHSHng?
A)  sspdrsdern e (B) Loaarrg,mrr &b Sullen Hene
(C) sigmieoeourniuGdladlome - (D) ¢.9.05. igo somder How

198. Which scheme is a placement linked skill training programme to empower rural poor youth?
(A) '~ Pradhan Mantri Awaas Yojana — Gramin i
(B) Pradhan Mantri Yuva Udyami Vikas Abhiyan
W Deen Dayal Upadhyaya Grameen Kaushalya Yojana
(D) Deen Dayal Yuva Vikas Abhiyan

Srmoym Generepisaflen Gauaney eumiiliygane Smento uuﬂm&eﬂ ..—fnaﬂuug eTHS QL_LLD?
(A)  Qrsrer wHHMN yeurev Cuimget — Symislesr

B)  Qrsren WHEM weur 2 gwd eflsmev Awimen

(©) den swred 2 ungwmw Symblen Qaerapcvus GuimsgeT

(D)  dlen swimed weur eflamen Swimredr
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199. Doklam Standoff is related between the countries of

M India — China

(B) India — Bhutan
(C) India — Tibet

(D) India — Nepal

“Curdmb Yrsgeamen” Qsmiyenw prHser |
@  @pdur - Sam

B)  @pdur -y men

©  @pBur-Houp

D) @pdHwur - Crumemd

200. Jagjit Singh Vs. State of Haryana (2007) is the case related to

(A) Electoral Reform
(B) Election Commission

: \/ Members (MLA’s, MP’s) support from outside

(D)  Criminalisation of politics

QAmsdssin Vs. apflwrerm wrfle <irs (2007) eupdsE ————— gL e QgniyeLws)
(4)  Gsige Sifmssd

(B) Csirga spenawmuid

(©) gyu Qeniraer, (MLA’s, MP’s) Qaualluder @mb81 24576 Smse

D)  swdue goneuraiisamowwmge
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